SC

0SC Audio Products, Inc.

Replacement Parts Listing
Last Updated: 10/22/98

Replacement parts shown in this guide are for servicing QSC products only.
Parts may be obtained by contacting QSC Technical Services at:

QSC Audio Products, Inc.
Technical Services

1675 MacArthur Blvd.
Costa Mesa, CA 92626

Tel: 800/ 772-2834
714/ 418-9200
Fax: 714/754-6173

Parts inquiries outside of the United States are directed to a local QSC
distributor. For a distributor referal, contact Technical Services as shown above.

ATTENTION:
THE PARTS SHOWN IN THIS GUIDE ARE FOR REFERENCE PURPOSES
ONLY. SOME OF THE PARTS SHOWN MAY NO LONGER BE AVAILABLE.

* This listing is not intended to represent all parts from QSC, but
only those that are most commonly referenced.

* Lead times and availability will vary. Supplies are limited.
* Some parts may be discontinued without notice.

* This guide is subject to change without notice.



Capacitors

QSC P/N
CA-010001-10
CA-010002-30
CA-010100-BD
CA-015001-10
CA-015002-10
CA-015100-BD
CA-018001-10
CA-018100-BM
CA-018100-CM
CA-022100-BD
CA-027001-10
CA-027001-30
CA-027002-30
CA-027100-BM
CA-033100-CM
CA-047001-10
CA-047002-30
CA-047100-BD
CA-068001-10
CA-068050-CD
CA-068100-BD
CA-110001-10
CA-110002-30
CA-110100-BM
CA-110100-BO
CA-110100-CM
CA-122001-10
CA-122002-30
CA-122100-BD
CA-133001-10
CA-133002-30
CA-133100-BD
CA-133500-CM
CA-147001-10
CA-147003-30
CA-147004-30
CA-147100-BD
CA-147100-BD
CA-168001-10
CA-168002-10
CA-168003-30
CA-168100-BC
CA-168100-BD
CA-210002-10
CA-210005-30
CA-210006-30
CA-210007-00
CA-210050-CP
CA-210100-BP

PART DESCRIPTION

10PF 100V 10% CER NPO

CAP 10PF 5% 50V
10PF,100V,10% DISK

15PF 100V 10% CER NPO

CAP CER 15PF 10% 500V SL
15PF, 100V, 10%, DISK

18PF 500V 5% SM

18PF 100V, 10% MICA

18PF, 100V, 5% MICA

22PF, 100V, 10%, DISK

27PF 500V 10% SM

CAP CER 27PF 5% 50V 0805 SMT
CAP CER 27PF 5% 250V NPO 1206
27PF, 100V, 10%, MICA

33PF, 100V, 5%, MICA

47PF 100V 10% CER NPO

CAP CER 47PF 5% 50V

47PF, 100V, 10%, DISK

68PF 100V 10% CER

68PF 50V 2% CER COG

68PF, 100V,10%, DISK

100PF 500V 5% SM

CAP CER 100PF 5% 50

100PF, 100V, 10%, MICA

100PF, 100V, 10%

100PF, 100V, 5%, MICA

220PF 100V 5% SM

CAP CER 220PF 5% 50

220PF, 100V, 10%, DISK

330PF 500V 5% SM

CAP CER 330PF 5% 50V NPO 0805
330PF, 100V, 10%, DISK

330PF, 500V, 5%, MICA

470PF 100V 10% CER

CAP 470PF 5% 50V

CAP CER 470PF 5% 50V NPO 0805
470PF, 100V, 10%, DISK

470PF, 100V, 10%, CER

680PF 100V 10% CER

680PF 500V 10% CER Y5P

CAP CER 680PF 5% 50

680PF, 100V, 10%, DISK

680PF, 100V, 10%, DISK

.001UF 100V 5% MYL

CAP .001UF 5% 50V

CAP CER .001UF 100V 2% NPO SMT
CAP SM .001UF 5% 500V

.001UF 50V 5% MYL

.001UF, 100V, 10%, MYLAR



CA-215001-00
CA-215002-10
CA-215050-CP
CA-410009-00
CA-410011-00
CA-410050-AD
CA-410050-AY
CA-410050-BD
CA-410050-BD
CA-410050-CP
CA-410100-AD
CA-410100-BP
CA-410100-CP
CA-410160-BP
CA-410250-AS
CA-410250-BP
CA-412001-10
CA-412100-BP
CA-412100-CP
CA-415001-10
CA-415002-10
CA-415100-CP
CA-422001-00
CA-422001-10
CA-422002-10
CA-422050-CP
CA-422100-CP
CA-447001-00
CA-447003-00
CA-447004-10
CA-447006-30
CA-505200-BO
CA-510001-10
CA-510001-10
CA-510004-30
CA-510005-30
CA-510006-00
CA-510016-BT
CA-510016-BT
CA-510050-AD
CA-510050-AE
CA-510050-BE
CA-510050-BP
CA-520200-CO
CA-522050-BN
CA-547002-10
CA-547003-10
CA-547004-00
CA-547005-10
CA-547016-BN
CA-547160-BE
CA-547160-BE
CA-550001-00

.0015UF 125VAC 20% YCAP
.0015UF 200V 5% MYL

.0015UF 50V 5% MYL

CAP MPOLYP .1UF 5% 250V
CAP MMYL .1UF 10%

.1UF, 50V, 20%, DISK

1UF 50V 20% CER Z5U

.1UF 50V 10% CER XTR

CAP CER .1UF 10% 50

.1UF 50V 5% MYL
.1UF100V,20%,DISK

.1UF, 100V, 10%, MYLAR

.1UF 100V 5% MYL

.1UF, 160V, 10%, MYLAR

1UF 250V 20% XCAP

CAP POLYESTER .1UF

.12UF 100V 5% MYL

.12UF, 100V, MYLAR

.12UF, 100V, 5%, MYLAR

.15UF 100V 5% MYL

.15UF 50V 5% MYL

.15UF, 100V, 5%, MYLAR

.22UF 250VAC 20% XCAP MPOLY
.22UF 50V 5% MYL

.22UF 250VDC 10% MPOLY
.22UF 50V 5% MYL

.22UF, 100V, 5%, MYLAR

A7TUF 250VAC 20% XCAP
A47UF 400V 10% POLYP

A47UF 100V 5% CAP MPOLY
CAP TANT .47UF 20% 25V SMT
CAP POLYESTER 5UF 10

.1UF 50V 20% CER

CAP CER 1UF 20% 50V

CAP CER 1UF 20 50V Z5U 1210
CAP LYTIC 1UF 20%

CAP MPOLY X 1UF 20% 250VAC
1UF 25V 10% TANT

CAP TANT DIP 1UF 10

CAP CER 1UF 20% 50V

1UF, 50V, ELECT., RADIAL

1UF, 50V, ELECT., RADIAL

1UF, 50V, ELECT., RADIAL

.2UF 200V 5% MPOLYP

2.2UF, 50V, RADIAL, NON-POLAR
4.7UF 16V 20% LYTIC NP
4.7UF 160V 10% LYTIC RL
4.7UF 160V 10% METALIZED PO
4.7UF 20V 10% TANT AL

4.7UF, 16V, 20% LYTIC NP
4.7UF, 160V, ELEC, RADIA
4,7UF 160V 10% LYTIC

CAP POLYPROP 5UF 10% 100V



CA-568001-00
CA-610002-10
CA-610004-00
CA-610005-30
CA-610006-30
CA-610016-AT
CA-610025-BE
CA-610035-BE
CA-622002-30
CA-622016-BN
CA-622035-AE
CA-633001-00
CA-647001-10
CA-647002-10
CA-647003-10
CA-647010-BN
CA-647035-AE
CA-647050-BE
CA-710001-10
CA-710002-10
CA-710004-10
CA-710035-BE
CA-722001-10
CA-722002-10
CA-722003-00
CA-722004-00
CA-722010-BN
CA-722025-BE
CA-722035-AE
CA-733025-AE
CA-739001-00
CA-747001-10
CA-747002-00
CA-747003-00
CA-747004-00
CA-747006-10
CA-747010-BE
CA-747063-AE
CA-810002-00
CA-8106.3-BE
CA-822035-AE
CA-822035-AE
CA-822080-BE
CA-822100-BE
CA-822200-AE
CA-833001-00
CA-833025-AE
CA-833050-BE
CA-833075-BE
CA-833080-BE
CA-835075-BE
CA-835100-BE
CA-839100-BE

CAP POLYPROP 6.8UF 10% 400V
10UF 35V 20% LYTIC

CAP LYTIC RL 10UF 20% 25V
CAP TANT 10UF 20% 35V SMT
CAP LYTIC 10UF 20% 16V SMT
10UF 16V 20% TANT

10UF, 25V, ELEC., RADIAL

10UF, 35V, ELEC., RADIAL

CAP TANT 22UF 20% 25V SMT
22UF, 16V, RADIAL, NON-POLAR
22UF 35V 20% LYTIC

CAP LYTIC RL 33UF 20% 400V
47UF 10V 10% LYTIC NP

47UF 50V 20% CAP LYTIC

47UF 10V 10% LYTIC NP SHORT

47UF, 10V, 10% RADIAL, NON-POLAR CAP LYTIC

47UF, 35V, ELECT., AXIAL
47UF, 50V, ELECT., RADIAL
100UF 35V 20% LYTIC
CAP LYTIC RL 100UF

CAP LYTIC RL 100UF

100UF, 35V, 20%, ELECT., RADIA, CAP LYTIC

220UF 10V 20% LYTIC RL
220UF 25V 20% LYTIC

220UF 25V 20% LYTIC RL

CAP LYTIC AL 220 UF

220UF 10V CAPACITOR

220UF, 25V, ELECT., RADIA
CAP LYTIC RL 220UF

330UF 25V 20% LYTIC

390UF 80V 20% LYTIC

CAP LYTIC RL 470UF

470UF 35V 20% LYTIC

470UF 25V 10% ALUM LYTIC
CAP LYTIC RL 470UF

CAP LYTIC RL 470UF 20% 4V
470UF, 16V, ELEC., RADIA

CAP LYTIC RL 470UF

CAP LYTIC AL 1000UF

1KUF, 6.3V, ELEC., RADIA
2200UF, 35V, ELEC., RADI

CAP LYTIC RL 220 OUF

2200UF 80V ELEC. CAPACITOR
2200UF 100V CAPACITOR
CAPACITOR LYTIC 2200UF, 200V. 20%
3300UF 100V 20% LYTIC
CAPACITOR 330UF

3300UF 50V CAPACITOR
3500UF, 75V CAP

3300UF 80V 20% LYTIC

3500uF 75V CAPACITOR,MALLORY
3500uF 100V CAPACITOR,MALLORY
3900UF 100V CAPACITOR



CA-847050-BE
CA-847051-BE
CA-847080-BE
CA-882080-BE
CA-912063-AE
CA-915050-AE
CA-922001-00
CA-922001-00
CA-922002-00
CA-947001-00

4700UF 50V CAPACITOR
4700UF 50V CAPACITOR
4700UF 80V CAPACITOR
8200UF, 80V, 20% LYGIC
12,000UF, 63V, 20% LYTIC
1500UF 50V 20% LYTIC

22000UF 35V 20% LYTIC

CAP LYTIC RL 220 00U

CAP LYTIC RL 22000UF 20% 50V
47000UF 16V 20% LYTIC

Chassis Components

QSC P/N

CH-000001-00
CH-000006-00
CH-000008-00
CH-000009-00
CH-000010-00
CH-000011-00
CH-000012-00
CH-000013-00
CH-000014-00
CH-000015-00
CH-000016-00
CH-000017-00
CH-000018-00
CH-000019-00
CH-000021-00
CH-000022-00
CH-000024-00
CH-000037-00
CH-000042-00
CH-000049-00
CH-000050-00
CH-000051-00
CH-000052-00
CH-000053-00
CH-000054-00
CH-000056-00
CH-000060-00
CH-000061-00
CH-000063-00
CH-000064-00
CH-000065-00
CH-000067-00
CH-000068-00
CH-000069-00
CH-000070-00
CH-000071-00
CH-000072-00

PART DESCRIPTION

AIR DEFLECTOR, POLYCARBONAT
HEATSINK, MPX 300/MPX 600
VISUAL SHIELD

CHASSIS 2 SPACE

HEATSINK ASSY

CLAMP BR/TO3

SPREADER, HS PRIMARY
SHEILD, LINE FILTER

TOP COVER

CLAMP TO-220 4 POSITION
RACK EAR, SLS 2

PLATE REAR EAR

INPUT PANEL, SLS

PLATE, STRAIN RELIEF
HEATSINK, EXTRU. LEFT
HEATSINK EXTRU. RIGHT
SHIELD, AC FILTER, SLS PLATFO
PANEL, REAR, SP-1
SUPPORT, RACK EAR, REAR, SLS P
CHAS PAN PL 4.0

HEATSINK EXTRU 3.5 X 2.186
CHASSIS, TOP COVER PL 4.0
RACK EAR, PL 4.0

REAR EAR, PL 4.0

CHAS, PL 4.0

CX SERIES TOP COVER
INPUT PNL, LWR CX SERIES
SHIELD, AC FILTER

RACK EAR, MSP

CHASSIS, CX SERIES

CHAS, PAN, CX PLATFORM
CX-1 TOP COVER FAB

CX-1 CHASSIS FAB

CHASSIS PL DP

REAR EAR PL DP

HEATSINK, MSP

PLATE, HEATSINK, MS



CH-000074-00
CH-000075-00
CH-000076-00
CH-000077-00
CH-000082-00
CH-000083-00
CH-000089-00
CH-000091-00
CH-000091-01
CH-000095-00
CH-000102-00
CH-000103-00
CH-000104-00
CH-000111-00
CH-000114-00
CH-000620-AX
CH-000621-BX
CH-000622-BX
CH-000624-AX
CH-000624-CX
CH-001850-00
CH-002001-HA
CH-002003-HA
CH-002004-HA
CH-004100-00
CH-004111-00
CH-004112-00
CH-004113-00
CH-004114-00
CH-006500-00
CH-140101-00
CH-140102-00
CH-140102-01
CH-140103-00
CH-140103-01
CH-140112-00
CH-140200-UX
CH-140202-GX
CH-140203-EX
CH-140204-JX
CH-140208-LX
CH-140209-FX
CH-140210-BX
CH-150200-FX
CH-150201-DX
CH-150203-BX
CH-150204-CX
CH-150207-AX
CH-150207-AX
CH-160200-CX
CH-160201-AX
CH-160202-AX
CH-170100-00

HEATSINK, MAIN AMP 8" PL9.0
HEATSINK,MAIN AMP, 14" PL9.0
HEATSINK, PWR SUP FET, PL 9.0
HEATSINK, PWR SUP DIODES, PL 9.0
COVER, TOP

PLATE, CVVR, ADDRESS

CLAMP, FINGER 1 POS MEGA
SPRING, FLAT, 3 HOLE, 5.100"L
SPRING, FLAT, 3 HOLE, 4.500"LG
CHASSIS FAB, MSP CM
HEATSINK, AUDIO PL

SPRING, CLAMP, 22GA

HEATSINK, IGBT/RECT

BRACKT, OUTPUT PCB P

CLAMP, 2 FINGER PLX

MX700 CHASSIS FAB

MX700 TOP COVER FABRICATION
MX700 HEAT SINK FABRICATION
CLAMP TO-3 PL 6 FINGER

MX700 TRANSISTOR CLAMP
USA400/900/SE185/425FACEPL
2001HA HANDLES

EX / MXA 3RU HANDLE

1700 HANDLE

HANDLE EX/MX 2 SPACE
HEATSINK EXTRUSION EX/MXA 2SP
INPUT PANEL, LOWER MXA SERIES
INPUT PANEL,LOWER EX SERIES
INPUT PANEL, UPPER EX/MXA SERI
USA1310/SE650FACEPLATE
CHASSIS, SA/USA/SER. 13 SP
SERIES ONE TOP/BOTTOM COVER
COVER ASSY, PREPPED SER. 1
COVER PANEL VENTED

COVER ASSY, VNTD PRPD, SER 1
DEFLECTOR, AIR

1200/1400 CHASSIS

1200/1400 BOTTOM COVER

1400 RACK EAR

1400 FACEPLATE

1200/1400/1700 HEATSINK FA
OBS-1200 VENTED COVER PANEL
1400 KNOB FABRICATION

MX1500 CHASSIS FAB

MX1500 COVER PANEL

MX1500 PCB GUIDE

MX1500 HEATSINK

OBS-1500 KNOB FAB.
MX1500/2000 KNOB (CHANNEL1)
MX2000 CHASSIS FAB

MX2000 TOP COVER

MX2000 HEATSINK

FACEPLATE PANEL SA650



CH-170101-00
CH-170102-00
CH-170102-01
CH-170200-GX
CH-170202-BX
CH-170203-AX
CH-170203-AX
CH-170204-EX
CH-170205-AX
CH-400000-01
CH-400000-00
CH-400003-00
CH-400004-00
CH-400005-00
CH-400007-00
CH-400007-00
CH-400008-00
CH-400010-00
CH-400011-00
CH-400012-00
CH-400016-00
CH-400003-00
CH-410000-00
CH-410000-00
CH-410001-00
CH-410001-00
CH-410008-00
CH-410010-00
CH-410010-00
CH-420000-00

CHASSIS SA/1700

1700 TOP COVER PANEL
COVER ASSY, PREPPED SER 1
1700 CHASSIS

1700 CHASSIS COVER PANEL
1700 RACK EAR

1700 RACK EAR FABRICATION
1700 FACEPLATE FABRICATION
1700 FAN SHROUD

CHASSIS,3 SPACE, EX/ MX

EX 3 SP.CHASSIS

FAB DWG/ TP-220-6 CLAMP
SUPPORT, PCB, FAB DWG. EX 4
OBS-EX4000 INPUT PANEL FAB.
EX4000 HEATSINK BRACKET

EX 4000 HEATSINK BRACKET
HEATSINK, EXTR. & FAB, EX/
RACK EAR, FAB, EX4000
SUPPORT, RACK EAR, REAR, EX
DISPLAY PCB SHIELD

INPUT PANEL, BLANK UPPER
FAB DWG/TP-220-6 CLAMP
CHASSIS, 2 SPACE, MXA / SER
EX/MX 2 SPACE CHASSIS
COVER, TOP, CHASSIS, EX/MXA
TOP COVER EX/MX 2 SPACE
HEATSINK, EXTRUSTION, EX/M
RACK EAR, EX1600/ MX 2 SPACE
RACK EAR EX/MX 2 SPACE
CHASSIS 3 SPACE, EX/MXA SERIES

Gonnectors

QSC PIN
CO-000000-ZT
CO-000001-DB
CO-000002-BS
CO-000002-XX
CO-000003-CX
CO-000003-FX
CO-000003-MX
CO-000003-ZT
CO-000004-CO
CO-000004-FC
CO-000005-BS
CO-000006-SS
CO-000008-IC
C0O-000011-00
C0O-000012-00
CO-000014-I1C
CO-000016-IC
CO-000018-IC
C0O-000020-CO

PART DESCRIPTION

Z TABS WITH SUPPORTS

BINDING POST RH

OBS-2 POSITION BARRIER STRIP
PLASTIC FIBER OPTIC CONNECTORS
NEUTRIK ND3C RTS CONNECTOR
NEUTRIK NC3FX XLR FEMALE
NEUTRIK NC3MX XLR MALE

Z-TAB WITH SUPPORT

QD/ RING TERMINAL

NEUTRIK SPEAKON NL4FC

BAR STRP 3755

SOCKET 100 8 SIP

SOCKET 100 8 DIP

DUAL BINDING POST - RIGHT

DUAL BINDING CONNECTOR - LEFT
SOCKET 100 14 DIP

SOCKET 100 16 DIP

OBS-IC SOCKET 18 PIN

OBS-6 POS BARRIER



C0O-000021-CO
C0O-000022-CO
C0O-000027-CO
C0O-000028-CO
C0O-000029-CO
CO-000030-CO
C0-000031-CO
C0O-000032-CO
C0O-000033-CO
C0O-000033-CO
C0O-000034-QC
C0O-000035-CO
C0O-000036-CO
C0O-000037-CO
CO-000038-CO
C0O-000039-CO
CO-000040-CO
C0O-000041-CO
C0O-000042-CO
C0O-000043-CO
C0O-000044-CO
C0O-000045-CO
C0O-000046-CO
C0O-000047-CO
C0O-000048-CO
CO-000049-CO
C0O-000051-CO
CO-000055-CO
CO-000056-CO
CO-000057-CO
C0O-000061-00
C0-000062-00
C0O-000063-00
C0O-000064-00
C0O-000065-00
C0O-000067-00
C0O-000068-00
C0O-000069-00
C0O-000070-00
C0O-000071-00
C0O-000073-00
C0O-000074-00
C0O-000075-00
C0O-000076-00
C0O-000077-00
C0O-000079-00
C0O-000080-00
C0O-000080-00
C0O-000081-00
C0O-000082-00
C0O-000083-00
C0O-000084-00
C0O-000085-00

OBS-4 POS BARRIER

OBS-5 POS BARRIER

OBS-AMP HEA. 6 POSITION

RIGHT ANGLE HEADER, 24 PIN
OBS- PHONO JACK

OBS-VERT. HEADER 26 LINE .025
OBS-RIGHT ANGLE HEADER, 26 PIN
OBS-8 PIN HEADER, RIGHT ANGLE
HDR 100 4 RAMP LOCK

4 PIN HEADER, METER

OBS-.25" M/F CONN. ADAPTER
BAR STRP 3755 RT

JACK SPEAKON

PCB MOUNT XLR RECEPTACLE, HORIZ.
14 PIN HEADER

26-CKT. HEADER

9 PIN 156 HEADER

HDR MAT N LOC 3X4

PCB TEST POINT

HDR 100 2X13 BOX

HDR 100 2X7 BOX

HDR 156 4 RAMP LOCK

HDR 156 5 RAMP LOCK

HDR MAT N LOK 2X3

HDR 100 2X8 PIN

HDR 100 5 PIN

XLRM RT

HDR 100 2X7 LOCK/ LATCHING BOX 14 PIN
HDR 100 2X8 LOCK/ LATCHING BOX 16 PIN
HDR 100 2X13 LOCK/ LATCHING BOX 26 PIN
HDR 100 2 PIN

HDR 100 2X5 PIN

HDR 100 2X7 PIN

HDR 100 2X10 PIN

JACK EURO 4 RT

PLUG EURO 4

SOCKET 100 20 DIP

SOCKET 100 28 DIP

SOCKE 70 28 DIP

SOCKET 100 52 PLCC

JACK DC RT

HDR 100 8 RAMP LOCK

XLRF COMBO RT

JACK EURO 7 RT

PLUG EURO 7

BAR STRP 375 2 RT

SOCKET 3 POWER IEC

AC CONN IEC

JUMPR 100 2 SHUNT

HDR 100 3 PIN

HDR 100 10 PIN RT

HDR 100 12 PIN RT

TERM BLK EURO 2



C0O-000086-00
C0O-000086-00
C0O-000090-00
C0O-000091-00
C0O-000092-00
C0O-000093-00
C0O-000094-00
C0-000095-00
C0O-000096-00
C0O-000098-00
C0O-000099-00
C0O-000100-00
C0O-000101-00
C0O-000102-00
C0O-000103-00
C0O-000104-00
C0O-000104-00
C0O-000106-00
C0-000108-00
C0-000108-00
C0-000109-00
C0O-000110-00
C0O-000110-00
C0O-000111-00
C0O-000111-00
C0O-000112-00
C0O-000112-00
C0O-000113-00
C0O-000118-00
C0O-000122-00
C0-000124-00
C0-000136-00
C0-000140-00
C0-000142-00
C0-000148-00
C0-000155-00
C0O-000156-00
C0O-000157-00
C0O-000158-00
C0O-000161-00
C0O-000162-00
C0O-000163-00
C0-010250-QD
C0-014250-QD
C0-018250-QD
C0-022250-00
CO-100003-TB
C0O-108112-PJ
CO-300112-PJ
CO-300112-PJ
CO-350432-AD
CO-350432-AP
CO-350687-SP

XLRF COMBO CONNECTOR

XLR COMBO CONNECTOR

CONN 15 RT PC MNT

HDR 16 PIN RT ANGLE DUAL RO
HDR 100 2 X 8 BOX

BAR STRP 375 2

PLUG DURO 5

JACK EURO 5 RT

BARRIER STRIP 375 5 COVERED
HDR 100 2X13 LOCK SHORT

CONN I|EC SIDE FLANGE

CONN. PLUG EURO 7 PIN BLK
JACK EURO 7 RT BLK

PLUG EURO 7 GRN

JACK EURO 7 RT GRN

HDR 156 10 RAMP LOCK

.156" 10 PIN LOCKIN

CONN HD15 PIN RT ANGLE PC M
PLUG .1 2 POS RAMP LOCK

CONN PLUG 2-POS BLU

PLUG .1 2 POS RAMP LOCK

PLUG EURO 5 GRN

CONN PLUG 5-PIN EUR

PLUG EURO 3 GRN

CONN PLUG 3-PIN EUR

PLUG EURO 2 GRN

CONN PLUG 2-PIN EUR

CVR, 5 POS BARRIER STRIP, CL
CONN PLUG 3-PIN EUR

HEADER PCB RT ANGLE .100 8-POS
BARRIER STRIP PC MNT 5-POS
2-POLE 3-WIRE GROUND./ PLUG AC 125V 30A TWIST LOCK
HEADER PCB 4-PIN RT

HEADER 30-PIN LOCKI

CONN XLR F VERT PCB

HEADER PCB .100 2-P

HDR 100 8 RAMP STRAIGHT LOCK
HEADER PCB 8-POS .100" RA TIN
HEADER PCB 4-POS .100" RATIN
CONN BLK HDR 3-PIN EURP OPEN
BNDG POST A, DUAL S’

BNDG POST B, DUAL S

1/4" YELLOW QUICK DISCONNECT
OBS-1/4" BLUE QUICK DISCONNECT
OBS-1/4" RED QUICK DISCONNECT
QD250 FLAG 18GA

TERM BLK AC 3

JACK PHONE RT ANGLE .25"

25" RTS PCB MOUNT PHONE JACK
JACK PHONE 1/4"

.084" PIN 9 CONTACT PCB HEADER
HDR MAT N LOK 3X3

OBS-AMP 350687-1 SPLIT



CO-350778-CA
CO-460477-MP
CO-480706-OA
C0O-520258-MJ
CO-558827-00
CO-640385-AH
C0O-640551-PC
CO-641119-AH
CO-641148-AP
CO-641149-AP

CONNECTOR, MATE N LOK CAP
AMP 641337-1 6 POS. MALE

9 POSITION PLUG

6 COND. MOD JACK

30A AC PLUG ADAPTOR

HDR 156 16 RT

8 CONNECTION PLUG COVER

HDR 156 8 RAMP LOCK PREF

8 CONNECTION .158/C 18 GA PLUG
8 CONNECTION .156/C 20 GA PLUG

Hardware

QSC P/N
HW-000001-FC
HW-000003-FC
HW-000004-HW
HW-000005-HW
HW-000007-HW
HW-000007-HW
HW-000008-HW
HW-000010-HW
HW-000011-00
HW-000013-HW
HW-000013-HW
HW-000630-HW
HW-004700-RV
HWO005020-PB
HW-040001-00
HW-040002-SO
HW-040002-SQ
HW-040003-00
HW-040010-00
HW-040040-PS
HW-040082-SO
HW-060000-HW
HW-060001-00
HW-060002-HW
HW-060002-HW
HW-060003-HW
HW-060003-HW
HW-060004-SP
HW-060004-SP
HW-060005-00
HW-060040-PS
HW-060060-PS
HW-060060-SO
HW-060070-SO
HW-060080-HW
HW-060080-PS
HW-060082-SO
HW-060090-SO

PART DESCRIPTION

FUSE CLIPS, 1/4" 3AG

SNAP-IN CLIP FUSE, 1/4" 3AG
CABLE CLAMP 9/16" DIA
BARRIER JUMPER
TIN-PLATED/BRASS/EAR FUSE C
5MM FUSE CLIP

OBS-SPEED NUT

5MM X 20MM DOUBLE FUSEHOLDER
KIT HDRW FEMALE SCR

SLIDE LOCK POSTS ALII

SLIDE LOCK

BRACKET, RIGHT ANGLE ZIERE
UNITRAK RV4700 RIVET

PCB BLOCK EXPORT

BRACKET, #4-40 THD, RT ANGLE
#4-40 X 7/8"L. RND STNDOFF
STANDOFF 1/4" RND A

#4-40 3/16 HEX, JACK SCREW
STANDOFF, RD, 4-40, 3/16 OD X
#4-40 X 1/4 PEM STUD

#4-40 X 1/2" 1/4 hEX STANDO
#6-32 X 9/16", NYLON STANDOFF
BRACKET #6-32, THD, RT ANGL
#6-32 X 7/8" .25" HEX STNDO
STANDOFF 1/4" HEX AL M

#6-32 X 2.125"L HEX STNDOFF
STDOFF 1/4 HEX AL 6

#6 SPACER, NNYL RD, .25" X .25
SPACER 1/4"RND NYL
STANDOFF 1/4" HEX 6-

#6-32 X4 PEM STUD

#6-32 X 3/8 PEM STUD
OBS-#6-32 X 1/4" X 3/8" STNDOF
OBS #6-32 X 7/16 S-OFF

#6-32 X 1/2", HEX M/F STANDOFF
OBS-#6-32 X 8 PEM STUD

#6-32 X 1/2-1/4 HEX S-OFF

#6-32 X 9/16" HEX STANDOFF



HW-060100-PS
HW-060100-SO
HW-060120-SO
HW-060150-SO
HW-060240-SO
HW-060402-SP
HW-060405-SP
HW-060600-SO
HW-080001-SO
HW-080002-HW
HW-080002-HW
HW-080002-HW
HW-080004-SP
HW-080004-SP
HW-080005-SO
HW-080006-SO
HW-080008-SO
HW-080080-PS
HW-080300-SO
HW-080660-SO
HW-100001-HW
HW-100140-SO
HW-300000-GS
HW-300001-GS

#6-32 X 20 PEM STUD

#6-32 X 1" STANDOFF INSULATED
#6-32 X 3/4" STANDOFF

#6-32 X 29/32" STANDOFF
OBS-#6-32 X 1 1/2" 1/4" HEX

7/8" X #8 SNAP-IN STANDOFF

#6 X 1/4" X 5/32" ROUND SPACER
1/4" X 1/4" MALE/FEMALE 6-32

8-32 X 1/4 3/8 ROUND STAND-
#8-32 X 2.5" HEX STANDOFF
#8-32BX 2.5" HEX STANDOFF
#8-32 X 2.5", HEX 6-

#8-.25 X .25 NYLON RND SPCR
SPACER 1/4" RND NYL

SPCR #8 .187L .105SHNK SWGE BR
SPACER, 5/16"0OD, RND ALUM .470"L
SPCR #8 .187L .135SHNK SWGE AL
#8-32 X 1/2" PEM STUD

#8-32 X 1 7/8 HEX S-OFF
OBS-#8-32 X 4.124 HEX STANDOFF
#10-32 X .7" HEX S/O, NIC PLTD
#10-32 X 15/16, 3/8 HEX

GROUND STRAP .5 “W X 1.25"L
GROUND STRAP .4W

Integrated Circuits

QSC P/N
IC000001-4C
IC-000008-00
IC-000009-00
IC-000010-00
IC-000012-00
IC-000017-00
IC-000018-00
IC-000019-00
IC-000021-00
IC-000022-00
IC-000023-00
IC-000024-00
IC-000025-00
IC-000026-00
IC-000027-00
IC-000028-00
IC-000031-00
IC-000032-00
IC-000033-00
IC-000034-00
IC-000035-00
IC-000037-00
IC-000038-00
IC-000038-00

PART DESCRIPTION

LED DRVR BA6124

SMT MODULE, POS. STEP DRIVER
SMT MODULE NEG-STEP DRIVER
SMT MODULE, HOUSEKEEPING
OP - DUAL - OP275GP

RESET - CNTRL - MC34064

UP - 8BIT - UNPROG - 68HC11
GAL GAL 16Vv8B

OP DUAL NE5532

OSC 6.144MHZ

COUNTR RIPPLE 74HC4024N
PWM CNTRL 5G3525AN / 40V, 0.1A
DRVR MOSFET TC1427CPA
LM393N DUAL COMPARATOR

IC LIN QUAD COMP

OSC 7.3728MHZ/ 14 PIN DIP
OPTO ISOL 4N30

OP DUAL LO CURR LO NOISE

OP QUAD LO CURR LO NOISE
LVI, UNVOLTAGE SENSING CIRCU
OSC CMOS 8.0000 MHZ 14-PIN
OTA DUAL LM13600A

V REG +5V LT1083CP-5

IC LIN VOLT REG 5V



IC-000039-00
IC-000039-00
IC-000040-00
IC-000040-00
IC-000041-00
IC-000041-00
IC-000042-00
IC-000042-00
IC-000043-00
IC-000046-30
IC-000047-30
IC-000048-30
IC-000049-00
IC-000050-00
IC-000051-00
IC-000053-30
IC-000054-30
IC-000055-30
IC-000056-30
IC-000057-30
IC-000059-00
IC-000060-00
IC-000063-30
IC-000064-00
IC-000065-00
IC-000067-30
IC-000070-30
IC-000071-00
IC-000072-OP
IC-000073-30
IC-000074-OP
IC-000085-00
IC-000095-0OP
IC-000132-00
IC-000133-30
IC-000134-00
IC-000135-00
IC-000244-00
IC-000346-OP
IC-000442-OP
IC-000573-00
IC-001100-00
IC-001108-00
IC-001521-00
IC-002521-00
IC-002574-00
IC-002864-00
IC-003213-00
IC-003914-IC
IC-004066-IC
IC-004211-00
IC-004558-0OP
IC-005532-00

V REG +15V MC78T15CT

IC LIN VOLT REG 15V

LIN NEG VOLT REG 5V 1A

IC LIN NEG VOLT REG

V REG +12V MC7812CT

IC- LIN VOLT REG 12V

V REG +5V MC7805CT

IC LIN VOLT REG 5V

OPTO ISOL 4N29

IC LIN DUAL OP AMP TLO72 SO-8
IC LIN DUAL COMP LM

IC LIN DUAL OP AMP

IC TTL OPTO-CPLR HCPL2200

IC TTL OPTO-CPLR 6N137

IC OPTO-ISO MOC8101

IC LIN SMT DUAL TIM

IC LIN SMT QUAD COM

IC LIN SMT PFC REG UC3854B

IC SMT CMOS MOSFET DRVR

IC SMT CMOS 7-STG RIP 74HC4024
IC LIN MOSFET PWN SWITCH

IC CMOS OSC 6.000MHZ 14 PIN DIP
IC LIN SMT QUAD OP AMP MC33074
IC MOSFET DRVR MIC4452BN

IC LIN DUAL CLAMP OP AMP 2257
IC LIN DIFF AMP XISTOR ARRAY
IC LIN 2.5V SHUNT REF LM4040
IC LIN TEMP SESOR LM35

DUAL FET OPAMP

IC LIN DUAL OP AMP

TLO74 QUAD OPAMP

IC LIN POS VOLT REG 12VLOW D.O
XR095, QUAD OP AMP

IC LIN VSPRVSR TL77

IC LIN COMP LM311

IC CMOS HV DRIVER IR2

IC LIN PWM SWITCH

BUFR OCT74HC244N

OP QUAD MC34184P

LF442 DUAL OPAMP

DLATCH OCT 74HC573

OSC 8MHZ

DIOD ARRY MAD1108P

XMTR PLAST HFBR-1521

RCVR PLAST HFBR-2521

V REG 5V LM2574N-5.0

EEPROM 8KX8 28C64-20

RCVR GLASS HFD3213-002
LM3914 LED DRIVER/METER
4066 ANALOG SWITCH

XMTR GLASS HFE 4211-014

4588 OP AMP

OP DUAL PREF NE5532



IC-005532-00
IC-005532-OP
IC-006264-00
IC-009162-00
IC-009213-00
IC-040106-IC
IC-075453-00
IC-68HC11-00

Labels

QSC PIN

LB-000001-AX
LB-000001-AX
LB-000035-00
LB-000037-00
LB-000044-00
LB-000045-00
LB-000045-00
LB-000046-00
LB-000048-00
LB-000051-00
LB-000052-00
LB-000053-00
LB-000054-00
LB-000058-00
LB-000060-00
LB-000099-01
LB-000102-00
LB-000103-00
LB-000104-00
LB-000105-00
LB-000106-00
LB-000109-00
LB-000112-00
LB-000114-00
LB-000119-00
LB-000123-00
LB-000124-00
LB-000125-00
LB-000126-00
LB-000128-00
LB-000130-00
LB-000131-00
LB-000132-00
LB-000133-00
LB-000134-00
LB-000135-00
LB-000136-00
LB-000137-00
LB-000138-00

OP DUAL PREF NE5532

IC LIN DUAL OP AMP 5532 EX/MPA
RAM STATIC 8KX8 6264-10
SWITCH ANALOG TC9162N

VOL CNTRL TC9213P

HEX SCHMITT TRIGGER

DRVR DUAL 75453N

UP 8BIT PROG 68HC11

PART DESCRIPTION

LABEL KNOB ALLIGNMENT
LABEL, KNOB ALLIGNMENT
LABEL, UL AND CSA LISTING
LABEL, SPL-1 LIMITER

LABEL, OUTPUT SLS

LABEL, FACEPLATE

LBL, FACEPLAT, LT, PWRLGHT 1.
LABEL, FACEPLATE (RIGHT)
INPUT LABEL, SLS

FAN HUB COVER, LABEL
LABEL, CUL APPROVAL

LBL, FRENCH, FUSE REPACEMENT
LABEL, WARNING, TOP COVER
LABEL, FACEPLATE, LT, PWRLGHT
LABEL, FACEPLATE, LT, PWRLGHT
LABEL, CE LISTING

LABEL, FACEPLATE ST EX 800
LABEL, FACEPLATE ST EX 1250
LABEL, FACEPLATE ST EX 1600
LABEL, FACEPLATE ST EX 2500
LABEL, FACEPLATE ST EX 4000
LBL, FACEPLATE, LT, PL 4.0

LBL, INPUT, CX SERIES

LBL, REAR, OUTPUT CX SERIES
LABEL, FRONT, CM16

LBL, FACEPLATE CX6

LABEL, FACEPLATE CX6T

LBL, FACEPLATE CX12

LABEL, FACEPLATE 12T

LBL, OUTPUT CXT

LBL, FACEPLATE CX4

LBL, OUTPUT

LBL, FACEPLATE CX4T

LBL, OUTPUT, CXT SER 2 SP
LBL, FACEPLATE, USA 400

LBL, FACEPLATE USA 900

LBL, FACEPLATE UPT USA 1310
LBL, FACEPLATE LWR USA 1310
LBL, INPUT, USA 2 SERIES



LB-000139-00
LB-000142-00
LB-000143-00
LB-000144-00
LB-000145-00
LB-000146-00
LB-000148-00
LB-000150-00
LB-000151-00
LB-000152-00
LB-000157-00
LB-000163-00
LB-000164-00
LB-000165-00
LB-000166-00
LB-000167-00
LB-000168-00
LB-000169-00
LB-000170-00
LB-000171-00
LB-000172-00
LB-000173-00
LB-000174-00
LB-000175-00
LB-000176-00
LB-000205-00
LB-000208-00
LB-000800-00
LB-003000-00
LB-004000-00
LB-004001-00
LB-004002-00
LB-070222-00
LB-070222-00
LB-070223-00
LB-070223-00
LB-070224-00
LB-070224-0O0
LB-080220-00
LB-100000-CT
LB-100001-00
LB-100002-EG
LB-108205-KX
LB-110202-BX
LB-120202-DX
LB-120205-GX
LB-120206-BX
LB-120207-BX
LB-120210-00
LB-125220-00
LB-140211-LX
LB-140212-FX
LB-140215-JX

LBL, INPUT/OUTPUT PL 2SP DP
LBL, FACEPLATE 900 (D)

LBL, FACEPLATE USA 400 (D)
LBL, FACEPLATE,LWR USA 1310 (D)
LBL, INPUT, CX4 SERIES

LBL, PL, 1.8 DP GAIN

LBL, FACEPLT, PL 1.0 DP

LBL, I/O MONO BLK DP

LBL, FACEPLT PL 4.0 DP

LBL, REAR, IN/OUT PL 4.0 DP
LABEL, REAR MSP, E-

LBL, FACEPLT, LT, PL 2.0 HV DP
LBL, FACEPLT, RT, PL 2.0 HV DP
LVL, REAR, AC, PL 2.0 HV DP
LBL, FACEPLT, LT, PL 1.5X

LBL, FACEPLT, RT, PL 1.5X

LBL, I/O, PL BI-AMP DP

LBL, REAR, AC, PL, 1.5X DP
LBL, FACEPLT, LT, PL 1.6HVX
LBL, FACEPLT, RT, PL 1.6 HVX
LBL, FACEPLT, LT, PL 3.4

LBL, REAR, AC, PL 1.6HVX DP
LBL, REAR, AC, PL DP

LBL, FACEPLT, LT, PL 1.0HV
LBL, FACEPLT, LT, PL 2.2MP
LABEL, REAR, AUDIO, CM16
LBL, FCC, CLASS A CER
OBS-INPUT PANEL INFO

LABEL, FACEPLATE, MX3000A
LBL, INPUT PNL, UPR, EX/MXA SE
INPUT PNL LABEL, LWR,MXA SERIES
LBL, INPUT PNL, LWR, MXA SERIES
LABEL, FACEPLATE MX-700
FACEPLATE LABEL FOR MX700
INPUT LABEL MX-700

INPUT LABEL MX700

OUTPUT LABEL MX-700
OUTPUT LABEL MX700

EX-800 FACEPLATE LABEL
CHASSIS CONTROL TAG

LABEL FACEPLATE MX 1000A
EXPORT GROUND LABEL

1080 FACEPLATE LABEL

1100 FACEPLATE LABEL

LABEL, 1200 INPUT JACKPLANE
1200/1151 FUSE LABEL

1200 FACEPLATE LABEL

1200 THEATRE INPUT LABEL
LABEL-OUTPUT 1200

EX-1250 FACEPLATE LABEL
1400 FACEPLATE LABEL
LABEL, 1400 INPUT JACKPLANE
1400/1700 FUSE LABEL



LB-140217-AX
LB-140226-00
LB-150001-00
LB-150002-00
LB-150200-00
LB-150200-O0
LB-150201-00
LB-150201-00
LB-150202-00
LB-150202-00
LB-160200-00
LB-160201-00
LB-160202-00
LB-160220-00
LB-160221-00
LB-170210-BX
LB-170210-CX
LB-170210-CX
LB-170213-BX
LB-200001-00
LB-250220-00
LB-400220-00

4X6.3A FUSE LABEL
LABEL-OUTPUT 1400

MX1500A FACEPLATE LABEL
LBL, OUTPUT, MX-A
OBS-MX1500 FACEPLATE LABEL
MX1500 FACEPLATE LABEL
OBS-MX1500 INPUT LABEL
MX1500 INPUT LABEL
OBS-MX1500 OUTPUT LABEL
MX1500 OUTPUT LABEL
OBS-MX2000 FACEPLATE LABEL
OBS-MX2000 INPUT LABEL
OBS-MX2000 OUTPUT LABEL
EX1600 FACEPLATE LABEL

EX SERIES OUTPUT LABEL
LABEL, INPUT, 1700

1700 INPUT LABEL

1700 UPPER FACEPLATE LABEL
1700LOWER FACEPLATE LABEL
LABEL FACEPLATE MX 2000A
EX-2500 FACEPLATE LABEL
EX-4000 FACEPLATE LABEL

QSC P/N
MS-000002-FP
MS-000002-HS
MS-000015-00
MS-000016-00
MS-000017-00
MS-000017-00
MS-000018-00
MS-000019-00
MS-000048-HS
MS-000049-00
MS-000049-MS
MS-000050-MS
MS-000052-00
MS-000052-MS
MS-000054-MS
MS-000055-MS
MS-000056-00
MS-000057-00
MS-000058-00
MS-000060-00
MS-000061-00
MS-000066-HS
MS-000069-00
MS-000071-00
MS-000072-00
MS-000085-00

PART DESCRIPTION
EXPORT FUSE POST

HEAT SINK

FUSE HOLDER 5X20MM
CARRIER, FUSE, 5MM X 20MM
FUSE 3.15A 250V 5X20MM
FUSE 3.15 250V 5X2

FUSE 5A 250V 5X20MM

FAN ASSY AC 3.15

HEAT SINK TO-220 TALLLNG T
4.7" 24V DC FAN OBSOLETE
OBS-4.7" FAN, 24V DC

FUSE 20A 250V 1X1-1/4

3.5" FAN, 24 VDC

3.5" 24VDC, FAN

TO-220 HEATSINK- HIGHER
FUSE 30A 125V 1X1-1/4
HEATSINK TO 220 BLK VERT MN
HEAT SINK TO 220 CLIP

FUSE 1A 250V 5X20MM

FUSE 0.5A 250V 5X20MM
HEATSINK TO 220

TO-66 HEATSINK

FAN ASSY AC OPEN BLADE/ SERIES ONE
FAN GUARD 3.15 WIRE BLK
FAN GUARD 4.7 WIRE BLK
FAN, 3.15", 24VvDC



MS-000085-00
MS-000086-00
MS-000087-00
MS-000088-00
MS-000089-00
MS-000090-00
MS-000091-00
MS-000092-00
MS-000092-00
MS-000093-00
MS-000094-00
MS-000095-00
MS-000100-00
MS-000102-00
MS-000112-00
MS-000113-00
MS-000220-HS
MS-001220-HS
MS-040250-FU
MS-050125-EX
MS-050125-FU
MS-070125-FU
MS-10.250-FU
MS-100003-**
MS-100003-FN
MS-100003-MS
MS-100004-**
MS-100004-FN
MS-100005-FG
MS-120250-FU
MS-15.125-MS
MS-150250-FU

2 RACK SPACE FAN 3.5" 24VDC
FUSE 25A 125V 1X1-1/4

FAN 24VDC 4.7"

HEATSINK, RECTIFIER-INTEL D
PAD, TOROID

PWR LINE FILTER

FAN 5VDC 1.58"

FUSE 0.5A 250V 5X20MM FAS
FUSE 0.5A 250V 5X20

FAN ASSY, SERIES ONE (HOWAR
PWR SUPPLY, +5V/3A,+15V/1.5A
FILTER, AC W/FUSE (5X20MM)
ELASTO FOAM TAPE

EM SHIELD, INSULATED

FUSE 25A 125V 3AG FAST CER
FUSE 1A 250V SLO-BLO 5X20MM
HEAT SINK TO 220 SHORT
HEATSINK TO 220 TALL

4AMP, 250V FUSE

OBS-5 AMP, 5MM FUSE

5A, 125V FUSE

FUSE 7A 125V 1X1-1/4

FUSE 10A 125V 5X20MM
MX700 WHISPER FAN

FAN, 115V 50-60HZ, MXZ 2SP
METER LAMP SERIES I

EX 3RU HIGH PRESSURE FAN
FAN, 115V 4.7", MXA/IMPX 3 SP
MX2000 FAN GUARD

FUSE 12A 250V 1X1-1/4

FUSE 15A 125V 5X20MM

FUSE 15A 250V 1X1-1/4

Nuts & Washers

QSC PIN
NW-000000-BS
NW-000011-FW
NW-000011-HN
NW-000021-03
NW-000220-RW
NW-040000-PI
NW-040010-IT
NW-040010-SL
NW-040400-06
NW-040400-HN
NW-040401-FW
NW-040422-SW
NW-060000-PI
NW-060010-ET
NW-060010-IT

PART DESCRIPTION

DUAL BINDING POST HARDWARE
OBS-11MM POTSHAFT FLAT WASHER
11IMM POTSHAFT HEX NUT

FLT WSHR ALUM BLK ANADIZED
TO-220 RECT. WASHER

NUT, #4-40, PRESS IN PCB

#4 INTERNAL TOOTH LOCKWASHE
#4 SPLIT LOCK WASHER

#4-40 KEPS NUT

#4-40 X 1/4 HEX NUT

WASHER, #4 FLAT .028TH, SS
NYLON SHOULDER WASHER

6-32 NUT PRESS-IN PCB

OBS-#6 EXT. CTSK LOCKWASHER
#6 INTERNAL TOOTH LOCKWASHER



NW-060010-SL
NW-060120-FW
NW-060150-S0
NW-060400-HN
NW-060410-ET
NW-060410-ST
NW-060500-KP
NW-060510-HN
NW-062010-FW
NW-080001-NW
NW-080002-NW
NW-080500-KP
NW-100007-TN
NW-100300-00
NW-100600-KP
NW-100610-ET
NW-100700-NW
NW-100710-NW
NW-100711-FW
NW-101021-SW
NW-114380-00
NW-140010-IT
NW-140204-04
NW-140603-HN
NW-140623-LW
NW-140811-09
NW-142421-03
NW-180001-03
NW-380012-NW
NW-380800-HN
NW-380801-IL
NW-380803-HN
NW-381020-NW
NW-381021-SW
NW-381023-FW

#6 SPLIT TOOTH LOCK WASHER
WASHER, AL, #6, ID. 160 X O
STANDOFF 1/4" X 1"

#6-32 BY 1/4" HEX NUT

#6 EXTERNAL TOOTH LOCKWASHER
A-4 SPRING TOOTH LOCKWASHER
#6-32 KEPS NUT

#6-32 X 5/16" HEX NUT

#6 FLAT WASHER, SAE, ZINC

#8 EXT TOOTH LOCKWASHER, ZINC
WASHER, #8 FLAT .049 TH,SS,B
#8-32 KEPS NUT

1/4" PALLET NUT

NUT PEM 10-32

#10-32 KEPS NUT

#10 EXTERNAL LOCKWASHER

#10 FLAT WASHER .208ID X .4

#10 EXT TOOTH LOCKWASHER

#10 FLAT WASHER STL BLK OXID
OBS-#10 SHOULDER WASHER

11/4" OD 7/16 ID X 1/16" WSHR

1/4" INTERNAL TOOTH LOCKWASHER
1/4"-20, NUT,HEX,JAM,STL,ZIN

1/4"-28 X 3/8" HEX DRESS NU

1/4" INTERNAL TOOTH LOCKWASHER
1/4" HEL SPRING LOCK WSHR RE.
.3121D, 1.50 OD X .06 THK S

FLT WSHR .177IDX.5000DX.030THK
2 3/8 DIA NYLON WASHER

3/8 HEX NUT ZINC

3/8" INTERNAL TOOTH LOCKWASHER
3/8" DRESS NUT

OBS-ROTARY SW. STOP RING #4729
3/8 SHOULDER WASHER

3/8" DRESS WASHER

Plastic Gomponents

QSC P/N

PL-00.250-GR
PL-000000-AF
PL-000001-SR
PL-000002-SR
PL-000003-CP
PL-000004-02
PL-000004-04
PL-000006-00
PL-000007-EP
PL-000008-SR
PL-000009-PG
PL-000010-00
PL-000010-00

PART DESCRIPTION

1/4" OD, GROMMET, BLACK
ADHESIVE FEET

HEYCO 6W-1 STRAIN RELIEF 16/3
HEYCO STRAIN RELEIF 18/3

AC CORD PROTECTOR
SPACER, LED, 2 POSITION
SPACER, LED, 4 POSITION
INSULATOR, RIBBON CBL, MPA 3
EXPORT BINDING POST PLUG
HEYCO SR-7P-2 STRAIN RELIEF
HOLE PLUG, NYLON, 0.250" MT
BUMPER, SELF-ADHESIVE,PLAS
BUMPER, SELF ADHESIVE



PL-000011-TW
PL-000012-KN
PL-000013-SR
PL-000014-LN
PL-000015-PL
PL-000017-00
PL-000018-00
PL-000019-00
PL-000020-PL
PL-000024-00
PL-000025-PL
PL-000026-PL
PL-000030-PL
PL-000030-PL
PL-000032-PL
PL-000033-PL
PL-000035-PL
PL-000036-PL
PL-000037-PL
PL-000038-PL
PL-000039-PL
PL-000040-PL
PL-000041-PL
PL-000042-PL
PL-000043-PL
PL-000044-00
PL-000044-PL
PL-000045-PL
PL-000050-00
PL-000051-00
PL-000052-00
PL-000054-00
PL-000055-00
PL-000057-00
PL-000059-00
PL-000060-00
PL-000061-00
PL-000062-00
PL-000063-00
PL-000064-00
PL-000065-00
PL-000066-00
PL-000066-00
PL-000067-00
PL-000069-00
PL-000070-00
PL-000071-00
PL-000072-00
PL-000073-00
PL-000074-00
PL-000075-00
PL-000077-00
PL-000078-00

TIE WRAP, LONG
KNOB, 1/8" SHAFT DIAMETER S
HEYCO STRAIN RELIEF 1

LENS, LED, CLEAR

CLIP, WIRE, PLASTIC, ADHESIVE
SNAP RIVET, BLACK

SHROUD FAN

PROTECTIVE BARRIER, MXA 2 S
HEATSINK MTG PLASTIC PART
STRAIN RELIEF, LIQUID TIGHT
9222-PH140 AMATOM SPACER
TO-220 TEK-SIL INSULATOR
ADHESIVE BACKED CORD CLIP
ADHESIVE BACKED CORD CLIPS
MX700-MX1500 FAN GUARD

FAN MOUNTING PLASTIC RIVET
STANDOFF NYLATCH 1/4 TURN .25"
STRAIN RELEIF SR 7W-2
SOB-STRAIN RELIEF, EXPORT
INSULATOR AC PCB

INSULATOR, 6 X TO-220

POT COVERS

CABLE TIE MOUNT

BUSHING, STRAIN RELIEF, INTERN
STANDOFF NYLATCH 1/4 TURN .75"
STRAIN RELIEF

BUSHING STRAIN RELIEF

RIVET PLAST, SCREW TYPE, HD S
HOLE PLUG, BLACK, BINDER HD
INSULATOR, FAN/CHASSIS, SEM
EX/MPA 3 SPACE FAN SHROUD
KNOB FAN

EXPORT BINDING POST PLUG (R)
INSULATOR, BR PCB

INSULATOR, MICA 1.125" X 2.000
SPACER. LED T-1 (.420 LG)
INSULATOR, TO-220, 18 POSITION
SHROUD, FAN

INSULATOR, HEATSINK, SLS, PLAT
INSULATOR, AC FILTER PCB
INSULATOR, MAIN PCB
CHRISTMAS TREE CLIPS

CLIP XMAS TREE SLG

GROMMET STRIP, FLEXIBLE, NATU
INSULATOR, AC PCB

INSULATOR HEATSINK 3RU
INSULATOR, AC FILTER 3RU
INSULATOR, BARRIER STRIP

FAN SHROUD

TIE WRAP 8"

RIVET PLASTIC SCREW TYPE
INSULATOR, TO-218 .725 X .9
INSULATOR, 2 SP EX/MXA/CX



PL-000079-00
PL-000080-00
PL-000081-00
PL-000082-00
PL-000084-00
PL-000085-00
PL-000086-00
PL-000087-00
PL-000089-00
PL-000090-00
PL-000091-00
PL-000092-00
PL-000094-00
PL-000096-00
PL-000098-00
PL-000112-00
PL-000114-00
PL-000117-00
PL-000121-00
PL-000126-00
PL-000128-00
PL-000134-00
PL-000135-00
PL-001903-BK
PL-002753-00
PL-003.65-TW
PL-003109-00
PL-04.125-GU
PL-040601-PL
PL-090751-RV
PL-100001-GS
PL-108500-BX
PL-140501-BX
PL-200201-BX
PL-200202-BX
PL-200203-BX
PL-200204-AX
PL-200206-BX
PL-200207-AX
PL-200208-00
PL-320502-CX
PL-320503-BX
PL-350500-AX
PL-350506-BX
PL-380507-DX
PL-903125-SP
PL-903125-SP
PL-903300-SP
PL-905100-SP
PL-905156-SP
PL-905200-SP
PL-905325-SP
PL-905385-SP

INSULATOR, HEATSINK

NYLON MACHINE SCREW INSULATOR
INSULATOR, PCB MSP

SPACER, LENS MNT, FOR LED’S
WASHER, FIBRE .3750DX. 1941D.74
INSUL AD-96 ALUMINA 1.525X.950
INSUL AD-96 ALUMINA 2.87X.950
PCB RAILS

INSULATOR, RECT. H.S. 8.0
INSULATOR, XFMR/IND PL 9.0
INSULATOR, STEP SWITCH PL9.0
ISOLATOR, SPRING

INSULATOR, CAPACITOR PL 9.0
SCREW NYLON 8-32X3
INSULATOR, TO-220

PLASTIC RIVET .158" X .430"
INSULATOR, IGBT/REC
INSULATOR, TO-247

SPACER TO92/LED 0.255"DX0.18"L
SPRING, SEAT, PLX

SPACER, LED, .276"

GROMMETT RUBBER. 125"IDX.375"0OD
INSULATOR, MICA 1.25" X 1.75"
OLD STYLE SERIES | KNOB
LOCKOUT KNOB, MPA AND POWERLIGHT SERIES
TIE WRAP, BLACK ( SMALL), WE
BIVAR 905-385 SPACER

UNITRAK 4.125 PCB GUIDE

FLAT CABLE CLIPS

RIVET, FASTEX PL.231-090751-00
1" GROMMET STRIP

1080/1100 FISHPAPER
FISHPAPER AC INSULATOR 1400
SERIES Il SMALL KNOB

SERIES Il MEDIUM KNOB

SERIES Il LARGE KNOB

SERIES || SWITCH BUTTON
SERIES || CONTROL PLUG

DUAL TO-220 INSULATOR, FAB
LOCKOUT KNOB EX/MXA
FISHPAPER INTWRLOCK
FISHPAPER AC PCB 32

BULK FISH PAPER

FISHPAPER INTERLOCK
FISHPAPER AC PCB 38

SPACER, ROUND, NYLON 0.047
SPACER, ROUND, NYLON
SPACER, ROUND, NYLON, 0.300"
SPACER, ROUND, NYLON, #6,0
SPACER, ROUND, NYLON, #6, 0
SPACER, ROUND, NYLON, #6, 0
SPACER, ROUND, NYLON, #6, 0
SPACER RND, NYL #6 0.385"L B



PL-905500-SP
PL-909235-SP

SPACER, ROUND, NYLON, #6, 0.500

HOLDER, LED, 90 DEGREES, NY

Potentiometers

QSC P/N

PT-110000-AT
PT-110001-AT
PT-125000-AT
PT-210000-AT
PT-220000-AT
PT-250000-AT
PT-250000-CR
PT-250200-CR
PT-310000-CR
PT-310001-CR
PT-310002-CR
PT-320000-BT
PT-320300-CR
PT-320400-CR
PT-320500-CR
PT-320600-CR
PT-320700-CR
PT-320750-CR
PT-350000-AT
PT-350001-PM
PT-410000-AT
PT-410000-AT
PT-422000-AT
PT-422000-AT

PART DESCRIPTION

TRIM 100

100 OHM. VERTICAL TRIMPOT
TRIM 250

1K OHM TRIMPOT

TRIM 2K

TRIM 5K

GAIN 5K RT ANG

5K POWER LIMIT POT

GAIN 10K DET THRU PCB
1GAIN 10K NON DET THRU PCB
GAIN 10K RT ANG

TRIM POT 20K RT. ANG

20K POT (SERIES | FLAT SHAFT)
20K POT (1400 KNURLED SHAFT)
20K POT (MX1500/2000)

FRONT POT 50K SERIES II

20K POT SERIES Il FT. PANEL
20K POT SERIES II

50K SERIES Il STEP GAIN POT
50K LOG TAPER ROTARY POT
SOB-100K OHM TRIMPOT

RES VAR IT 100K 20% .15W
220K TRIMPOT

TRIM 220K

semiconductors

QSC PIN

QD-000001-00
QD-000001-TX
QD-000001-TX
QD-000003-00
QD-000004-00
QD-000004-TX
QD-000004-TX
QD-000005-QD
QD-000005-QD
QD-000006-QD
QD-000006-QD
QD-000009-VT
QD-000011-BG
QD-000012-BY
QD-000013-00
QD-000014-QD

PART DESCRIPTION

BJTN 200V 15A 200W MJL3281A
MPS W01 TRANSISTOR NPN
BJTN 30V 1A 1W MPSWO01

BJTN 250V 15A 200W MJ21194
BJTP 250V 15A 200W MJ21193
MPS U05 NPN TO-92

BJTN 60V 0.5A 1W MPSWO05
C2336 NPN NEC TRANS. TO-220

BJTN 250V 1.5A 25W 2SC2336B3.50

A1006 PNP NEC TRANS. T0-220
BJTP 250V 1.5A 25W 2SA1006B
VACTROL VTL5C4

GREEN LENS

YELLOW LENS

FETN 60V 45A 150W RFP50N06
DIOD 100V 15A 35NS MUR1510



QD-000015-QD
QD-000016-QD
QD-000017-QD
QD-000018-QD
QD-000019-QD
QD-000021-QD
QD-000022-QD
QD-000023-QD
QD-000024-QD
QD-000025-QD
QD-000030-QD
QD-000031-QD
QD-000032-QD
QD-000033-QD
QD-000040-00
QD-000041-00
QD-000042-00
QD-000042-QD
QD-000043-00
QD-000044-00
QD-000045-00
QD-000046-00
QD-000047-00
QD-000048-00
QD-000049-00
QD-000050-00
QD-000051-10
QD-000051-TX
QD-000052-00
QD-000053-00
QD-000054-00
QD-000055-10
QD-000056-10
QD-000057-00
QD-000058-00
QD-000059-10
QD-000060-00
QD-000061-00
QD-000062-10
QD-000063-10
QD-000065-10
QD-000066-10
QD-000073-00
QD-000074-00
QD-000075-10
QD-000076-00
QD-000077-00
QD-000078-10
QD-000079-00
QD-000080-20
QD-000081-20
QD-000082-20
QD-000092-00

1N4936 DIODE

MPSA43 TRANSISTOR NPN 200V
MPSA93 TRANSISTOR PNP 200V
SOB-BJTN 200V 1A 20W 25C3298
SOB-BJTP 200V 1A 20W 2SA1306
ZENER 10V 1W 1N4740A

ZENER 18V 1W 1N4746A

ZENER DIODE 180V, 1.5W, 5%, 1IN5955A
ZENER DIODE 6.2V, .25W, 5%, DZ901116G

IN5817,15V MIN
FETN 100V 25A 150W IIRF540
FETN 60V 50A 150W IRFZ44

BJTN 200V 16A 250W MJ15022 / 21194
BJTP 200V 16A 250W MJ15023 / 21193

BRIDG 400V 40A INLINE

DIODE POWER/CC 200V 16A 35NS SF164C

DIODE RECTIFIER ULTRAFAST
DIOD 400V 3A 50NS MUR440
IGBT 600V 55A 200W IRGPC50U
DIOCA 200V16A 35NS F164A
BRIDG 200V 1A DIP

DIOD 40V .03A 1NS SHTKY BAT
ZENER 200V 1.5W 1N5956B
BJTP 230 V 15A 150W MPSW51
BJTN 230V 15A 150W 2SC4029
ZENER 190V 1W DZ940527A
BJTP 30V 1A 1W MPSW51
BJTP 30V 1A 1W MPSW51

LED GRN T-1 DIFF

LED YEL T-4

LED RED T-1

BJTN 80V .25A 1.5W 2N4410
BJTP 60V .5A .625W MPS8599
DIOCC 250V 16A 35NS SF164C
DIOCA 250V 16A 35NS SF164A
JFETN 25V 10 OHMS J108

IGBT 600V 40A 160W IRGPC40U
IGBT 600V 60A 200W IXGH1644
BJTN 40V .2A 1.5W 2N3904
BJTP 40V .2A 1.5W 2N3906
BJTP 200V .5A 1.5W MPSA92
BJTN 30V 1A 1W MPSWO01
XISTOR IGBT 59A 450V
RECRIFIER 400V .3A 1.5W MPSA44
BJTN 400V .3A1.5W MPSA44
BJTN 250V MJ15030 NPN

BJTP 250V MJ15031 PNP

BJTN 30V .5A 1.5W MPSA13
DIOD 400V 8A 60NS MUR840
ZENER 11V 1W 1IN4741A
ZENER 47V 1W 1N5261B
ZENER 150V 1W 1N5953

BJTN 100V 3A 40W TIP31C



QD-000102-30
QD-000103-30
QD-000104-30
QD-000105-30
QD-000106-30
QD-000107-30
QD-000108-30
QD-000109-30
QD-000110-30
QD-000111-30
QD-000112-00
QD-000113-30
QD-000114-30
QD-000115-30
QD-000116-30
QD-000117-00
QD-000118-00
QD-000120-20
QD-000123-10
QD-000124-10
QD-000125-00
QD-000126-00
QD-000127-30
QD-000128-30
QD-000129-00
QD-000131-00
QD-000132-00
QD-000134-LG
QD-000134-LR
QD-000134-LX
QD-000134-LY
QD-000135-QD
QD-000136-30
QD-000151-10
QD-000152-10
QD-000153-00
QD-000154-00
QD-000155-00
QD-000156-00
QD-000157-10
QD-000159-20
QD-000160-00
QD-000163-30
QD-000164-10
QD-000165-00
QD-000168-30
QD-000169-00
QD-000170-00
QD-0003.9-ZT
QD-0004.7-ZT
QD-000400-LY
QD-000400-RS
QD-000424-TX

DIODE SW 1N4148 SMT

XISTOR NPN SMT 40V

XISTOR PNP SMT 40V

XISTOR NPN SMT 300V

XISTOR PNP SMT 300V

XISTOR JFET NCH SMT 35V
DIODE SMT SWITCH

DIODE ZNR 4.7V 5% .3W SMT
DIODE ZNR 6.2V 5%

DIODE ZNR 12V 5% .3W SMT
BJTN 100V 3A 40W TIP31C

DIODE ZNR 10V 5%

DIODE SMT ZENER 600W TVS
DIODE SMT RECT 600V

DIODE RECT SMT 200V

DIODE TO-247 FAST 600V 60A
DIODE BRIDG RECT DIP 1000V 1A
DIODE RECT 200V 1A MUR120
XISTOR NPN TO92 300V 0.5A
XISTOR PNP TO92 30V 0.5A
DIODE TO-247 FAST 600V 37A
DIODE TO-247 FAST 600V 75A
XISTOR PNP SMT 20V 5A .35W
XISTOR NPN SMT 25V 4A .5W
XISTOR PNP TO220 100V 5A 28W
FET NCHAN TO264 70V 110A 500W
FET NCHAN TO264 200V 74A 416W
GREEN T-1 3/4

LED RED T-1 3/4

LED R/G T-1 3/4

LED YEL T-1 3/4

LED GRN T-1 3/4 DIFF

DIODE ZNR 7.5V 5% .3W SMT
XISTER NPN TO92 75V

DIODE ZNR 12V 5% 1W

DIODE RECT TO247 UFA

XISTOR NPN TO-220

XISTOR PNP TO-220 2

XISTOR PNP TO-220 1

DIODE RECT DO15 1000V 1.5A
DIODE ZNR 47V 2% 1W 1N4756C
DIODE RECT TO247 UFAST 200V60A
LED RED SMT VOLTAGE REF
BJTN 200V .5A 625MW

DIODE BRIDGE RECT

DIODE 70V 200nA SCHOTTKY SMT
XISTOR IGBT 27A/600

DIODE BRIDGE RECT 600V 50A
ZENER 3.9V .25W DZ84073ID
ZENER 4.7V .25W DZ840731E
YELLOW RECTANGULAR LED
LED, RED .25"X.0625"

25D424 XSTOR NPN TO-3/TO-204AA



QD-000554-TX
QD-0007.5-ZT

QD-000810-DX
QD-000914-DX
QD-001302-PN
QD-001340-LR
QD-001847-TH
QD-001848-TH
QD-002750-00

QD-002751-00

QD-002752-00

QD-003002-QD
QD-003281-NP
QD-003904-TX
QD-003906-TX
QD-004004-DX
QD-004148-DX
QD-004410-TX
QD-004744-ZA
QD-004749-ZA
QD-004753-ZT
QD-004934-DX
QD-005402-DX
QD-005771-TX
QD-007815-QD
QD-007915-QD
QD-008599-TX
QD-050200-BX
QD-1.5200-BX

QD-250400-BE
QD-250400-BX
QD-400400-BE
QD-400400-BX

2SB554 XSTOR PNP TO-3/TO-204AA
ZENER DIODE 7.5V .25W DZ840731F
DIOD 100V 8A 35NS MURS810

DIOD 75V .075A 4NS 1N914

BJTP 200V 15A 150W 2SA1302

LED RED T-1 3/4 VREF

SJ1847 XSTR PNP TO-66/TO-213AA
SJ1848 XSTR NPN TO-66/TO-213AA
LED RED RECTL

LED GRN RECTL

LED YEL RECTL

551-PS 3002 OPTO SCR

BJTN 200V 15A 150W 25C3281

BJTN 40V .2A 1.5W 2N3904

BJTP 40V .2A 1.5W 2N3906

DIOD 400V 1A 2US 1N4004

DIOD 75V .075A4NS 1N4148

BJTN 80V .25A 1.5W 2N4410

DIODE ZENER 15V, 1W, 5%, 1N4744A
IN4749A, 24V ZENER

ZENER DIODE 36V, 1W, 1N4753A
DIODE RECT.D41 FAST 100V 1A 0200NS 1N4934
DIODE RECT. 200V,3A/ 200NS 1N5402
2N5771 PNP TRANSISTOR TO-92

15V REGULATOR, POSITIVE/ IC REG.
-15V REGULATOR IC TO-220/ NEGATIVE
BJTP 60V .5A .625W MPS8599

5A 200V BRIDGE RECTIFIER

DIODE BRIDGE RECTIFIER 200V, 1.5A
25A 400V BRIDGE RECTIFIER

25A 400V BRIDGE RECTIFIER

40 AMP 400 VOLT BRIDGE RECT.
DIODE BRIDGE RECT 400V, 35A

Resistors

QSC P/N
RE-.00101-00
RE-.00102-00
RE-.01505-FW
RE-.02205-FW
RE-.02210-00
RE-.02210-FW
RE-.04703-10
RE-.04705-FW
RE-.09100-EM
RE-.27005-EM
RE-.33005-DM
RE-.39005-EM
RE-.47005-DM
RE-.56002-10

PART DESCRIPTION

.01 10W 1% WW 4TERM

.01 5W 1% 4-WIRE

.15 OHM 3W 10% RESISTOR
0.22, 3w, 10%, RES WW
RESISTOR .22 10% 3 WATT
0.22 3W 10% WW

RES MOFP .47 5% 2W

0.47, 3W, 10%, RES WW
910 OHM,2 W,MET OX 5%, RESISTO
2.7 2W 5% MOFP

3.3, 1W, 5%,RES MOFP

3.9 2W 5% MOFP

4.7, 1W, 5% RES MOFP

RES MOFP 5.6 5% 2W



RE-.56005-BC
RE-.56005-DM
RE-.56005-EM
RE-.68005-DM
RE-000000-PT
RE-000006-PT
RE-000009-PT
RE-000015-00
RE-000050-NR
RE-000060-PT
RE-000100-NR
RE-000105-BC
RE-000130-NR
RE-000140-NR
RE-000150-NR
RE-000160-NT
RE-000170-NR
RE-000180-NR
RE-000190-NR
RE-000200-NR
RE-000210-NR
RE-000230-NR
RE-001001-10
RE-001003-00
RE-001003-30
RE-001005-BC
RE-001005-CC
RE-001005-EM
RE-001501-10
RE-001502-10
RE-001505-CC
RE-001505-DM
RE-002201-00
RE-002205-DM
RE-002321-10
RE-003305-BC
RE-003305-DM
RE-003921-30
RE-004701-10
RE-004705-BC
RE-004705-DM
RE-004751-10
RE-004751-BM
RE-004752-30
RE-004752-30
RE-005605-EM
RE-005606-10
RE-005621-AM
RE-006801-00
RE-006802-00
RE-006802-00
RE-006803-10
RE-006805-BC

5.6 1/4W 5% CF

5.6 1W 5% MOFP

5.6, 2W, 5%, RES MOFP

6.8, 1W, 5%, RES MOFP

90 C PTC RESISTOR

60 C PTC RESISTOR/ 0.1K MAX COLD
90 C PTC RESISTOR VERT. PRE/ 0.1K MAX COLD
CRNT LMTG PTC 0.2 OHM COLD

NTC- THERMISTOR, 50 OHM

OBS-60 C PTC RESISTOR
THERMISTOR, NTC, CURNT LMTG, 20A
15% 1/4W RESISTOR

SC-130 NTC RESISTOR EXPORT
THERMISTOR, NTC INRUSH CURR 9A
0.5 OHM @ 25C, 0.01 @ 30A/ THERMISTOR NTC 30A
SG-160 NTC, 2.5 OHM, 15A CURR LIM NTC THERMISTOR
THERMISTOR NTC, 1.0 OHM COLD, 30A MAX
THERMISTOR, NTC, 2.0 OHM, 18 CUR LIM
THERMISTER NTC 10A CUR LIM

NTC RESISTOR

THERMISTOR NTC 15A

THERMISTOR NTC 10K

10 OHM 1/3W 1% MF

RES WW 10 5% 5W VERT MNT

RES SMT OHM 5%

10 OHM, 2 WATT, RESISTOR

10 5% 1/2W RESISTOR

10, 2W, 5%, RES MOFP

RES MF 15 1% 1/8W

RES MOFP 15 5% 2W

15 1/2W 5% CF

15, 1W, 5%, MOFP

22 2W 5% MOFP

22 1W 5% MOFP

23.2 OHM 1/4W 1% MF

33 1/4W 5% CF

33 OHM 1 WATT METAL OXIDE 5%

RES SMT 39.2 OHM 1%

RES MOFP 47 5% 2W

47 1/4 W 5% CF

47 OHM 1 WATT METAL OXIDE 5%

47.5 1/3W 1% MF

47.5 1/4AW 1% MF

RES SMT 47.5 1% 1/10W 100V

RES SMT 47.5 1% 1/10W 100V

56 OHM 2W 5% MET OXIDE

RES MOFP 56 5% 2W

56.2 1/8W 1% MOFP

68 5W 5% WW

68 3W 10% MF

RES WW 68 5% 3W

RES CF 68 5% 1/2wW

68 OHM 1/4W CARBON 5% RESISTOR



RE-006811-BM
RE-007502-30
RE-007505-BC
RE-007505-DM
RE-010000-NT
RE-010001-BM
RE-010002-30
RE-010002-30
RE-010003-10
RE-010005-BC
RE-010005-CC
RE-012000-00
RE-012005-BM
RE-012005-DM
RE-012005-EM
RE-013701-BM
RE-015001-BM
RE-015002-10
RE-015004-10
RE-015005-BC
RE-015005-DM
RE-016501-BM
RE-017401-BM
RE-018005-BC
RE-018005-CC
RE-018005-EM
RE-018201-30
RE-020001-BM
RE-020002-30
RE-022005-BC
RE-022005-DM
RE-022101-BM
RE-023701-BM
RE-025010-NW
RE-025501-BM
RE-027002-BM
RE-027005-BC
RE-027005-CC
RE-027005-EM
RE-027401-30
RE-028001-BM
RE-030005-BC
RE-030005-HW
RE-030101-BM
RE-033005-DM
RE-033005-HW
RE-033010-NW
RE-033201-BM
RE-033203-30
RE-033204-10
RE-033205-30
RE-035701-BM
RE-038301-30

68.1 1/4W 1% MOFP

RES SMT 75 1% 1/10W

75 1/4 W 5% CF

75 1W 5% MOFP

100 OHM NTC

100 1/4W 1% MF

RES SMT 100 1% 1/10

RES SMT 100 1% 1/10W 100V
RES MF 100 1% 1/8W

100 1/4W 5% CF

100 1/2W 5% CF

120 3W 10% WwW

120, 2 WATT METAL OXIDE
120 1W 5% MOFP

120 2W 5% MOFP

137 OHM, 1/4 W MET. FILM 1%
150 1/4W 1% MF

RES CF 150 5% 1/2W

RES MOFP 150 5% 2W

150 1/4W 5% CF

150 1W 5% MOFP

165 1/4W 1% MF

174 OHM, 1/4 W, MET. FILM 1%
180 OHM, 1/4 WATT

180 1/2W 5% CF

180 OHM, 2 WATT METAL OXIDE 5%

RES SMT 182 1% 1/10W 100V
200 1/4W 1% MF

RES SMT 200 1% 1/10W 100V
2200HM,1/4W, MET F RESISTOR
220 1W 5% MOFP

221 1/4W 1% MF

237 1/4W 1% MF

250 15W 10% Ww

255 1/4W 1% MF

270 OHM,1/4 WATT MT FLM 2%
270 1/4W 5% CF

270 1/2W 5% CF

270 2W 5% MOFP

RES SMT 274 1% 1/10W 100V
280 1/4W 1% MF

300 OHM, 1/4 W, CARBON 5%
300 5W 10% WW

301 1/4W 1% MF

330 1W 5% MOFP

330 OHM 5 WATT WW 10%

330 15W 10% Ww

332 1/4W 1% MF

RES SMT 332 1% 1/4W 200V
RES MF 332 1% 1/8W

RES MF 332 .1% 1.10W 0805
357 OHM, 1/4 W, MET. FILM 1%
RES SMT 383 1% 1/10



RE-039005-BC
RE-04001-00
RE-041201-AM
RE-041201-BM
RE-041701-BM
RE-043201-BM
RE-045005-HW
RE-045010-HW
RE-046401-BM
RE-047001-10
RE-047002-BM
RE-047005-BC
RE-047005-CC
RE-047005-DM
RE-047010-NW
RE-04703-10
RE-047501-BM
RE-047502-30
RE-048701-BM
RE-051001-00
RE-053601-AM
RE-053601-BM
RE-053602-30
RE-056201-BM
RE-059001-BM
RE-060401-BM
RE-062401-BM
RE-063401-AM
RE-063401-BM
RE-063402-30
RE-064901-BM
RE-068005-EM
RE-068010-HW
RE-068101-BM
RE-069801-10
RE-075001-BM
RE-078701-BM
RE-082001-10
RE-082005-BC
RE-090901-30
RE-091005-EM
RE-095301-BM
RE-10002-10
RE-110001-10
RE-110001-AM
RE-110002-30
RE-110004-DM
RE-110005-BC
RE-110005-CC
RE-110005-EM
RE-110006-30
RE-110501-BM
RE-110502-30

390 1/4W 5% CF

RES PWR FILM TO220 .04 1% 20W
412 1/8W 1% MF

412 1/8W 1% MF

417 OHM, 1/4 WATT, METAL FLM
432 1/4W 1% MF

450 OHM, 5 W, WIREWOUND 10%
450 5W 10% WW

464 1/4W 1% MF

RES MOFP 470 5% 2W
RESISTOR,470 OHM,SIP 8 PIN
470 1/4W 5% CF

470 OHM, 1/2 W, CARBON 5%
470 1W 5% MOFP

470 15W 10% WW

RES MOFP 47 5% 2W MINI

475 1/4W 1% MF

RES SMT 475 1% 1/10

487 1/4W 1% MF

510 1W 5% MOFP

536 1/8W 1% MF

536 1/4W 1% MF

RES SMT 536 1% 1/10.

562 1/4W 1% MF

590 1/4W 1% MF

604 OHM, 1/4 WATT,MET.FILM, 1%
624 OHM, 1/4 W, MET. FILM 1%
634 1/8W 1% MF

634 1/4W 1% MF

RES SMT 634 1% 1/8W 1206
649 1/4W 1% MF

680 OHM,2 W,MET OX,5%,RESISTOR
680 5W 10% WW

681 OHM, 1/4 W, MET. FILM 1%
698 1/4W 1% MF

750 1/4W 1% MF

787 OHM, 1/4 WATT,MET.FILM, 1%
RES MOFP 820 5% 2W

820 1/4W 5% CF

909 1/10W 1% 100V SMT

910 OHM, 2 W, MET. OXIDE 5%
953 1/4W 1% MF

RES MF 1 1% 1/4W

1.00K 1/3W 1% MF

1.00K 1/8W 1% MF

RES SMT 1.00K 1% 1/10W 100V
1K 1W MET OX 5% RESISTOR
RES CF 1K 5% 1/4W

1K OHM, 1/2 W, CARBON 5%
1K,2W MET OX 5% RESISTOR
RES SMT 1.00K 1%

1.05K OHM, 1/4 W, MET. FILM
RES SMT 1.05K 1% 1/10W 100V



RE-112001-BM
RE-112005-HW
RE-112101-BM
RE-112401-BM
RE-113005-EM
RE-113301-BM
RE-113302-30
RE-114001-BM
RE-115001-BM
RE-115002-30
RE-115005-BC
RE-115005-EM
RE-116201-BM
RE-117401-30
RE-118201-AM
RE-119101-BM
RE-120001-00
RE-120001-BM
RE-120002-30
RE-120005-BC
RE-120005-EM
RE-120006-BM
RE-122005-BC
RE-122005-CC
RE-122005-EM
RE-122101-BM
RE-122102-30
RE-122103-30
RE-124001-00
RE-124005-EM
RE-124901-BM
RE-124902-30
RE-125005-HW
RE-125501-BM
RE-127005-BC
RE-127005-EM
RE-127005-HW
RE-127401-BM
RE-128001-BM
RE-128701-BM
RE-128702-30
RE-130001-00
RE-130005-EM
RE-130005-HW
RE-130101-BM
RE-130102-30
RE-133005-BC
RE-133005-EM
RE-133005-HW
RE-133006-30
RE-134801-BM
RE-134802-10
RE-134802-30

2.00K 1/4W 1% MF

1.2K 5W 5% WW

1.21K 1/4W 1% MF

1.24K 1/4W 1% MF

1.3K OHM, 2 W, MET. OXIDE 5%
1.33K 1/4W 1% MF

RES SMT 1.33K 1% 1/10W 100V
1.40K 1/4W 5% MF

1.5K OHM, 1/4 W, MET. FILM 1%
RES SMT 1.50K 1%

15K 1/4 W 5% CF

1.5K,2W MET OX 5% RESISTOR
1.62 1/4 W 1% MF

RES MF 1.74K 1% 1/10W 0805
1.82K 1/8W 1% MF

1.91K OHM, 1/4W

2.00K 1/8W .1% MF 25PPM
2.00K OHM, 1/4W, MET. FILM 1%
RES SMT 2.00K 1%

2K,1/4W CARBON,5%,RESISTOR
2K 2W 5% MOFP

2K,1Q MET OX 5% RESISTOR
2.2K 1/4W 5% CF

2.2K OHM, 1/2W, CARBON 5%
2.2K OHM, 2W, MET. OXIDE 5%
2.21K 1/4W 5% MF

RES SMT 2.21K 1% 1/4W 200V
RES SMT 2.21K 1%

2.4K 2W 5% MOFP

2.4K 2W 5% MF

2.49K 1/4W 1% MF

RES SMT 2.49K 1% 1/10W 100V
2.5K OHM, 5W, WIREWOUND 10%
2.55K OHM, 1/4W, MET. FILM 1%
2.7K 1/4 W 5%WW

2.7K OHM, 5 WATT, WIREWOUND
2.7K 5W 5% WWwW

2.74K 1/4W 1% MF

2.80K 1/4W 1% MF

2.87K 1/4W 1% MF

RES SMT 2.87K 1% 1/10W 100V
3.0K 5W 5% MOFP

3K2 W 5% MOFP

3K OHM, 5WATT, WIREWOUND
3.01K 1/4W 1% MF

RES SMT 3.01K 1% 1/10W 100V
3.3K OHM, 1/4 WATT

3.3K OHM, 2W

3.3K OHM 5W 10% RESISTOR
RES MF 3.3K 1% 1/10W 0805
3.48 K 14W 1% MF

RES MF 3.48K 1% 1/8W

RES SMT 3.48K 1% 1/10W 100V



RE-135005-HW
RE-135701-BM
RE-136001-00
RE-136501-AM
RE-138005-DM
RE-139001-00
RE-139002-10
RE-139005-BC
RE-142201-BM
RE-145301-10
RE-145302-30
RE-147005-BC
RE-147005-CC
RE-147005-DM
RE-147501-AM
RE-147501-BM
RE-147502-30
RE-15001-00
RE-15002-10
RE-15002-10
RE-15002-30
RE-151005-BC
RE-156001-10
RE-156005-CC
RE-156005-EM
RE-156201-BM
RE-159001-BM
RE-159002-30
RE-160401-30
RE-162005-CC
RE-163401-10
RE-163402-30
RE-168005-BC
RE-168005-DM
RE-168101-BM
RE-171501-10
RE-171501-BM
RE-175001-BM
RE-175002-30
RE-175005-BC
RE-175005-EM
RE-176005-EM
RE-176801-BM
RE-178701-30
RE-178702-30
RE-182005-EM
RE-182501-BM
RE-186601-BM
RE-190901-BM
RE-190902-30
RE-193101-BM
RE-197601-BM
RE-210001-10

3.5K 5% 5W RESISTOR

3.57K 1% 1/4W MF
3.6K5WATT 5%

3.65K 1/8W 1% MF

6.8K 1W 5% RESISTOR

3.9K 5W 5% MOFP

RES MOFP 3.9K 5% 2W

3.9K 1/4W 5% CF

4.22K OHM, 1/4W, MET. FILM 1%
4.53K 1/8W 1% MF

RES SMT 4.53K 1% 1/10W 100V
47K 1/4 W 5% CF

4.7K,1/2W CARBON 5% RESISTOR

4.7K 1W 5% MOFP

4.75K 1/8W 1% MF

4.75K OHM, 1%

RES SMT 4.75 1%

RES MOFP 1.5 2% 3W

RES MOFP 1.5 5% 2W MINI

RES MOFP 1.5 5% 2W MINI

RES THICK FLM 1.5 5% 1W SMT

5.1K,1/4W CARBON 5% RESISTOR

RES 5.60K .1% 1/4W

5.6K 1/2W 5% RESISTOR

5.6K 2W 5% MOFP

5.62K 1/4W 1% MF

5.90K 1/4W 1% MF

RES SMT 5.90K 1% 1/10W 100V
RES SMT 6.04K 1% 1/10W 100V
6.2K 1/2W 5% CF

6.34K 1/8W 1% MF

6.34K 1/10W 1% 100V

6.8K 5% 1/4W CF

6.8 OHM, 1W, MET. OXIDE 5%
6.81K 1/4W 1% MF

7.15K 1% 1/8W METAL FILM
7.15K OHM, 1/4W, MET. FILM 1%
7.50K 1/4W 1% MF

RES SMT 7.50K 1%

7.5K OHM, 1/4W

7.5K 2W 5% MOFP

7.6K OHM, 2WATT

7.68K 1/4W 1% MF

RES SMT 7.87K 1%

RES MF 7.87K .1% 1/10W 0805
8.2K 2W 5% MOFP

8.25K OHM, 1%

8.66K 1/4W 1% MF

9.09K 1/4W 1% MF

RES SMT 9.09K 1%

9.31K 1/4W 1% MF

9.76K 1/4W 1% MF

10.0K 1/3W 1% MF



RE-210001-BM
RE-210001-BM
RE-210002-CM
RE-210003-30
RE-210005-BC
RE-210005-CC
RE-210005-EM
RE-212005-BC
RE-212101-CM
RE-212401-10
RE-212701-BM
RE-212702-30
RE-213001-BM
RE-213003-00
RE-2132002-1
RE-214301-BM
RE-214701-BM
RE-215001-BM
RE-215002-30
RE-215005-BC
RE-216201-BM
RE-216501-CM
RE-216901-CM
RE-217401-BM
RE-218002-00
RE-218005-BC
RE-218005-BC
RE-218701-BM
RE-220001-10
RE-220001-BM
RE-220002-30
RE-221001-CM
RE-221501-CM
RE-221502-30
RE-222005-BC
RE-222006-BM
RE-222101-BM
RE-224005-BC
RE-224301-BM
RE-224901-30
RE-224902-10
RE-227005-BC
RE-227401-30
RE-229401-BM
RE-229402-30
RE-230002-10
RE-230005-BC
RE-230101-BW
RE-230101-CM
RE-230102-30
RE-230103-10
RE-233201-30
RE-234801-BM

10.0K 1/4W 1% MF

RES MF 10. OK 1% 1/4

10K 1/2W 2% MF

RES SMT 10.0K 1%

10K OHM, 1/4W, CARBON 5%
10K OHM, 1/2W, CARBON 5%
10K 2W 5% MOFP

12K 1/4 W 5% CF

12.1K 1/2W 1% MF

12.4K 1/4W 1% MF

12.7K 1/4W 1% MF

RES SMT 12.7K 1%

13.0K 1/4W 1% MF

13K 1W 5% MOFP

13.0K 1/2W 1% MF

14.3K 1/4W 1% MF

14.7K 1/4W 1% MF

15.0K 1/4 W 1% MF

RES SMT 15.0K 1%

150K OHM, 1/4 WATT, CARBO
16.2K 1/4W 1% MF

16.5K 1/2W 1% MF

16.9K,1/2W MET FM 1% RESISTOR

17.4K 1/4W 1% MF

18K 1W 5% MOFP

18K 1/4W 5% CF

18K 1/4W 5% CF

18.7K 1/4W 1% MF

20.0K 1/3W 1% MF

20K 1% 1/4W MF

RES SMT 20.0K 1%

21.0K 1/2W 1% MF

21.5K 1/2 WATT 1% MF

RES SMT 21.5K 1% 1/10W 100V
22K 5% 1/4W CF

22K 1 W 5% MOFP

22.1K 1/4W 1% MF

24K 1/4 W 5% CF

24.3K 1/4W 1% MF

RES SMT 24.9K 1%

RES MF 24.9K 1% 1/4W

27K 1/4W 5% CF

RES SMT 27.4K 1% 1/10W 100V
29.4K 1/4W 1% MF

RES SMT 29.4K 1% 1/10W 100V
RES MOFP 30K 5% 2W

30K 1/4W 5% RESISTOR

30.1K OHM, 1/4 WATT, MET. FL
30.1K 1/2W 1% MF

RES SMT 30.1K 1% 1/8W 1206
RES MF 30.1K 1% 1/4W

RES SMT 33.2K 1% 1/8W 1206
34.8K 1/4W 1% MF



RE-235701-BM
RE-239005-BC
RE-239201-BM
RE-239202-30
RE-239203-30
RE-242201-BM
RE-245301-BM
RE-245302-30
RE-247002-DM
RE-247003-00
RE-247005-BC
RE-247005-CC
RE-247005-DM
RE-247502-BM
RE-247503-30
RE-248701-BM
RE-253601-BM
RE-256201-BM
RE-260401-BM
RE-260401-BM
RE-268005-DM
RE-270005-BC
RE-275001-BM
RE-278701-BM
RE-282005-BC
RE-290900-10
RE-293101-BM
RE-293102-30
RE-297601-BM
RE-310001-00
RE-310002-30
RE-310003-30
RE-310005-BC
RE-310005-BC
RE-312005-BC
RE-312101-BM
RE-312102-30
RE-314001-30
RE-315001-BM
RE-315002-30
RE-315005-BC
RE-315401-BM
RE-318005-BC
RE-320001-10
RE-321002-10
RE-333005-BC
RE-333201-10
RE-336500-10
RE-339005-BC
RE-339201-30
RE-347005-BC
RE-347503-10
RE-348702-30

35.7K 1/4W 1% MF
39K,1/4W,CARBON 5%

39.2K 1/4W 1% MF

RES SMT 39.2K 1%

RES MF 39.2K 1% 1/10W 0805
RESISTOR,42.2K,1/4W,MET FM 1%
45.3K 1/4W 1% MF

RES SMT 45.3K 1% 1/10W 100V
47K 1W 2% RESISTOR

RES MOFP 47K 5% 2W

47K 1/4 W 5% CF

47K 1/2W %5% CF

4.7K, 1W, 5%, RES MOFP
47.5K OHM, 1/4 WATT, MET FL
RES SMT 47.5K 1%

48.7K 1/4W 1% MF

53.6K 1/4W 1% MF

56.2K 1/4W 1% MF

60.4K 1/4W 1% MF

60.4K 1/4W 1% MF

68K 1W 5% MOFP

70K OHM, 1/4W, MET. FILM
75.0K 1/4W 1% MF

78.7K 1/4W 1% MF

82K 1/4W 5% CF

RES MF 90.9K 1% 1/4W

93.1K 1/4W 1% MF

RES SMT 93.1K 1% 1/10W 100V
97.6K 1/4W 1% MF

100K 1W 5% MOFP

RES SMT 100K 1%

RES SMT 100K 5% 1/8

100K 1/4W 5% CF

RES CF 100K 5% 1/4W

120K 1/4W 5% CF

121K 1/4W 1% MF

RES SMT 121K 1% 1/10W 100V
RES SMT 140K 1% 1/10W 100V
150K 1/4W 1% MF

RES MF 150K 1% 1/8W

150K 1/4W 5% CF

154K 1/4W 1% MF

180K 1/42 5% CF

200K 1/4W 1% MF

RES 210K .1% 1/4W 25PPM
330K 1/4W 5% CF

332K 1/3W 1% MF

RES MF 365K 1% 1/4W

390K 1/4W 5% CF

RES SMT 392K 1%
RESISTOR,470K,1/4W,CARBON 5%
RES MF 475K 1% 1/4W

RES MF 487K 1% 1/8W



RE-375001-30
RE-375005-BM
RE-390901-10
RE-410001-30
RE-413005-BC
RE-414005-BC
RE-56002-10

RES SMT 750K 1% 1/10W 100V

750K 1/2W 5% MF

909K 1/4W 1% MF

RES SMT 1.0 MEG OHM 5% 1/8W

1.3 OHM, 1/4W, 5% CARBON
RESISTOR,0BS-1.4 MEGAOHM, 1/4W
RES MOFP 5.6 5% 2W MINI

Resistor Networks

QSC PIN

RN-033002-BM
RN-047002-BM
RN-110002-BM
RN-122002-BM
RN-127002-BM
RN-133002-CM
RN-147002-BM
RN-147002-DM
RN-156002-BM
RN-168002-BM
RN-182002-BM
RN-210002-AM
RN-210002-BM
RN-210002-CM
RN-210002-DM
RN-210002-EM
RN-212002-BM
RN-215002-BM
RN-218002-BM
RN-220001-10
RN-220002-BM
RN-222002-BM
RN-227002-BM
RN-233002-BM
RN-239002-BM
RN-247002-BM
RN-256002-BM
RN-268002-BM
RN-282002-BM
RN-310002-BM
RN-322002-CM

PART DESCRIPTION
330 OHM SIP

470 OHM SIP, 8 PIN

1K 1/8W 2% 8-SIP 4R
2.2K 1.8W 2% 8-SIP 4R
2.7K 1/8W 2% 8-SIP 4R
3.3K OHM SIP 5 PIN
4.7K1/8W 2% 10-SIP 9R
4.7K 1/8W 2% 10-SIP 9R
5.6K 1/8W 2% 8-SIP 4R
6.8K 1.8W 2% 8-SIP 4R
8.2K 1/8W 2% 8-SIP 4R
10K 1/4W 2% 14-DIP 7R
10K 1/8W 1% 8-SIP 4R
10K OHM I PIN SIP

10K 1/8W 2% 10-SIP 9R
10K 1/8W 2% 6-SIP 3R
12K 1/8W 2% 8-SIP 4R
15K 1/8W 2% 8-SIP 4R
18K 1/8W 2% 8-SIP 4R

20K 1/8W 2% 12-SIP 6R 100 P

20K 1/8W 2% 8-SIP 4R
22K 1/8W 2% 8-SIP 4R
27K1/8W 2% 8-SIP 4R
33K 1/8W 2% 8-SIP 4R
39K 1/8W 2% 8-SIP 4R
47K 1/8W 2% 8-SIP 4R
56K 1/8W 2% 8-SIP 4R
68K 1/8W 2% 8-SIP 4R
82K 1/8W 2% 8-SIP 4R
100K1/8W 2% 8-SIP 4R
220K OHM SIP 5 PIN

screws & Fasteners

QSC P/N

PART DESCRIPTION

SC-000000-BS
SC-000001-00

SC-030000-SC
SC-030044-PB
SC-040041-PP

BARRIER STRIP SCREWS

#10-32 X .75" PHP BLACK CRO
SCREW, 3MM X 8MM,P/P,TYP1,BLK.
3-48 BY 1/4" CROSSHEX

#4-40 X 1/4" P/P BLACK



SC-040061-PT
SC-040080-PP
SC-040081-PP
SC-040121-PP
SC-060030-PU
SC-060041-PO
SC-060041-PP
SC-060041-PU
SC-060042-PP
SC-060060-PP
SC-060061-PP
SC-140441-PP

#4-40 X 3/8 P/T BLACK
SCREW #4-40 X 1/2 P/P ZINC
SCREW 4-40 X 1/2" T

#4-40 X 3/4" P/P BLACK
#6-32 X 3/16" UNDERCUT ZINC
#6-32 BLACK SCREWS
#6-32 X 1/4" P/P U-CUT ZINC
SCREW 6-32 X 1/4" T

#6-32 X 1/4" TYPE | PH, PAN
#6-32 X 3/8" P/P ZINC

#6-32 X 3/8" P/P BLACK
1/4-20 X 2.75L 2A

service Kits

QSC P/N

SG-000000-AC
SG-000001-AC
SG-000002-AC
SG-000003-AC
SG-000004-AC
SG-000005-AC
SG-000006-AC
SG-000007-AC
SG-000008-AC
SG-000009-AC
SG-000010-AC
SG-000014-AC
SG-000025-AC
SG-000026-AC
SG-000027-AC
SG-000028-AC
SG-000029-AC
SG-000032-AC
SG-000033-AC
SG-000034-AC
SG-000199-AC
SG-000200-AC
SG-000201-00
SG-000202-AC
SG-000203-AC
SG-001500-AC
SG-003800-AC

PART DESCRIPTION

EARLY QSC RESTORATION KIT

A SERIES RESTORATION KIT
SERIES ONE RESTORATION KIT
MX/EX 3RU HIGH PRESSURE FAN
MX700 PRECISION BALANCED FAN
XF-1 INPUT TRANSFORMER KIT
STANDARD ISOLATION TRANSFORMER
SERIES 3 RESTORATION KIT

EX SERIES RESTORATION KIT
1700 RESTORATION KIT

MXA SERIES RESTORATION KIT
MXA LOWER INPUT CARD

FCM-1 FAN CONTROL KIT

BSC-2 BUSCARD

BSC-1 BUSCARD

RPC-1 REMOTE AC CARD

RPC-2 REMOTE AC CARD

FK-1 FAN KIT

USA1300 RESTORATION KIT
BSC-3 BUSCARD

USA REBUILD KIT (OLD)

USA SERIES REBUILD KIT (NEW)
SERIES ONE REBUILD KIT
MX1500 REBUILD KIT

MX1500A REBUILD KIT

MX1500 RESTORATION KIT

3800 RESTORATION KIT

Switches & Gircuit Breakers

QSC PIN

PART DESCRIPTION

SW-000000-SW SPDT MONO-BRIDGE SLIDE SWITCH
SW-000000-TW OLD 1400 BRIDGE SWITCH
SW-000001-RY SMALL SIGNAL RELAY



SW-000002-PS
SW-000003-CB
SW-000005-CB
SW-000008-CB
SW-000008-DS
SW-000009-1S
SW-000010-00
SW-000010-CB
SW-000010-RY
SW-000013-RY
SW-000014-RS
SW-000015-CB
SW-000016-SW
SW-000017-SW
SW-000018-SW
SW-000019-SW
SW-000020-SW
SW-000022-AW
SW-000022-SW
SW-000025-SW
SW-000026-SW
SW-000027-SW
SW-000028-SW
SW-000029-SW
SW-000030-SW
SW-000031-SW
SW-000032-00
SW-000034-00
SW-000035-00
SW-000036-CO
SW-000037-00
SW-000039-00
SW-000041-SW
SW-000042-00
SW-000043-00
SW-000045-00
SW-000046-00
SW-000051-00
SW-000052-00
SW-000053-00
SW-000055-TS
SW-000085-TS
SW-000085-TS
SW-0001.2-CB
SW-000110-00
SW-000151-SW
SW-0002.5-CB
SW-0004.0-CB
SW-0005.0-CB
SW-000550-00
SW-0007.5-CB
SW-0010.0-CB
SW-001110-IS

SW SPST AC 16A 250VAC
CIRC BRKR THERM 3A

BRKR THERM 5A ROCKER
BRKR THERM 8A

SW 100 8 SECTION DIP

3200 INTERLOCK SWITCH

SW 100 10 SECTION DIP
BRKR THERM 10A ROCKER
MX1500/3500 24V OUTPUT RELAY
RLY SPDT 24VDC, 15A, 125VDC
SW SP16T ROTARY

BRKR THERM 15A

SW SPST AC 20A 125VAC/ SNAP IN POWER SWITCH
70V SWITCH

ROTARY SWITCH

POWER SWITCH
SENSITIVITY SWITCH

DPDT RELAY FOR OLD 3800 MODS
SERIES 11 24VDC SPST RELAY
MPS 2300 ROTARY SWITCH
PC MOUNT AC SWITCH

SW DPST AC 22A 125VAC

SW THERM 55C NO TO-220
RLY SPDT 24VDC, 15A, 125VAC./ SPEAKER PROTECT
4 POS. DIP SWITCH

SW DP3T SLIDE RT

SW SPST AC 20A 125VAC 0/1
SW SPST MOM NO 12vDC

SW 4PDT SLIDE 12 DIP

PC & PANEL MOUNT MALE
SW DPST AC 20A 125VAC
DPST AC 10A 125VAC

SW DPDT TOGGLE RT

SW DPDT PUSH-LOCK

SW, SLIDE, 4P3T, VERT PC
SW 4P3T SLIDE RT

RLY, SPST SIP 200VDC 1.5A 13
RELAY DPDT 0.3A 9vVD
SWITCH DIP 10-POSITION
SWITCH DIP 10-POS, TALL
SW THERM CUT-IN 55C NO
THERM 85C NC

SWITCH THERMAL CUT-
CIRCUIT BREAKER

EX TRANS FUSE

SW SPDT SLIDE RT

BRKR THERM 2.5A

4A CIRCUIT BREAKER

BRKR THERM 5A BUTTON

SW THERM 55C NO QD187
7.5A CIRCUIT BREAKER

BRKR THERM 10A BUTTON
INTERLOCK SWITCH



SW-002750-00
SW-380015-SB
SW-380016-ES

SW DPST AC 20A 125VAC 0/1
BRKR MAG 15A SW
BRKR MAG 7.5A SW

Documentation

QSC P/N
TD-000026-00
TD-000027-00
TD-000034-00
TD-000037-00
TD-000040-00
TD-000056-00
TD-000057-00
TD-000061-00
TD-000062-00
TD-000064-00
TD-000066-00
TD-000068-00
TD-000070-00
TD-000071-00
TD-000083-AX
TD-000700-AX
TD-001500-**
TD-006900-AX
TD-101911-00
TD-150004-00
TD-300001-AX
TD-400001-00
TD-400005-00

PART DESCRIPTION

MXA OWNERS MANUAL

SERIES ONE OWNERS MANUAL
POWERLIGHT OWNERS MANUAL
USA SERIES SERVICE MANUAL
SERIES ONE SERVICE MANUAL
POWERLIGHT SERVICE MANUAL (non DP)
CX OWNERS MANUAL

USA 2 SERIES OWNERS MANUAL
MX3000A SERVICE MANUAL
OWNERS MANUAL, MSP

CX SERVICE MANUAL

USA 2 SERVICE MANUAL
OWNERS MANUAL, RAVE
POWERLIGHT SERVICE MANUAL (DP)
EARLY QSC SERVICE MANUAL
MX700 SERVICE MANUAL

MX SERVICE MANUAL

MX700 OWNER'S MANUAL

USA OWNER’S MANUAL

MXA SERVICE MANUAL

SERIES Il SERVICE MANUAL

EX SERVICE MANUAL

SPL-1 OWNERS MANUAL

Wire & Cable

QSC P/N
WC-.000080-0
WC-0.2020-JW
WC-0.3022-JW
WC-0.3514-JW
WC-0.5018-JW
WC-0.6022-JW
WC-0.6022-JW
WC-0.8022-JW
WC-000001-10
WC-000001-TS
WC-000002-TS
WC-000003-TS
WC-000004-TS
WC-000005-TS
WC-000006-TS
WC-00000X-TS

PART DESCRIPTION

WIRE ASSY, BLK, 15

.2", 20GA, SOLID

JMPR INS 0.3" 22AWG SLD WHT
WIRE JMPR SO .35"

5" JUMPER, WHT., 18 GA, SOLID

.6" JUMPER, WHITE

.6" JUMPER, WHITE,

.8" JUMPER WHITE 22GA

JUMPER INS .6" 22AW

DPC-1 1FT. HD15 DATAPORT CABLE
DPC-2 2FT. HD15 DATAPORT CABLE
DPC-3 3FT. HD15 DATAPORT CABLE
DPC-4 4FT. HD15 DATAPORT CABLE
DPC-5 5FT. HD15 DATAPORT CABLE
DPC-6 6FT. HD15 DATAPORT CABLE
DPC-X CUSTOM LENGTH HD15 DATAPORT CABLE



WC-000012-HS
WC-000014-01
WC-000014-WC
WC-000015-WC
WC-000016-00
WC-000017-00
WC-000021-00
WC-000022-00
WC-000026-01
WC-000036-00
WC-000037-00
WC-000038-00
WC-000044-00
WC-000045-00
WC-000049-00
WC-000052-00
WC-000072-00
WC-000074-00
WC-000077-00
WC-000078-00
WC-000079-00
WC-000081-00
WC-000082-00
WC-000083-00
WC-000085-00
WC-000086-00
WC-000087-00
WC-000088-00
WC-000091-00
WC-000092-00
WC-000093-00
WC-000095-00
WC-000098-00
WC-000103-00
WC-000106-00
WC-000109-00
WC-000115-00
WC-000115-01
WC-000117-00
WC-000117-01
WC-000117-02
WC-000117-03
WC-000118-00
WC-000118-01
WC-000125-00
WC-000129-00
WC-000130-00
WC-000131-00
WC-000133-00
WC-000137-00
WC-001004-CX
WC-001011-BX
WC-001012-AC

3/16 X 1" HEAT SHRINK

14 LINE 10" LONG RIBBON CABLE
26 LINE RIBBON

14 LINE RIBBON

16 LINE RIBBON CABLE

26 PIN RIBBON CABLE ASSY M/F
CONNECTORS

POWERLIGHT 4.0 AC CORD (230V)
26 LINE RIBBON CABLE

WIRE ASSY, FAN SLS

WIRE ASSY, AC SWITCH

RIBBON CABLE, 16

JUMPER ASSEMBLY, VOLTAGE
WIRE ASSY, OUTPUT

120 VAC PWR. CORD PL-1.0/1.4/1.8/2.0
14 LINE 6" LONG RIBBON CABLE
SLEEVE, CLEAR 10.5

34 PIN 6" CABLE ASS

6" WIRE ASSY 18GA

WIRE ASSY, BLK, 14.

WIRE ASSY. BLK 12.0

GND WIRE ASSY, 4.5"

WIRE ASSY, BLK, 10

CORD POWER 3 X 18 A

WIRE ASSY, GRD

WIRE ASSY, AC, PWR

WIRE ASSY, /O TOM

WIRE ASSY, FAN/PWR

JUMPER INS CPR FOIL 4.9" X .3"
JUMPER 1/4" X 3MIL X .3 WIDE
JUMPER INS CPR FOIL 4.3" X .3"
PL-4.0 PWR.CORD 120 VAC
CABLE, 3 COND 22 GA

CABLE ASSY, 20 PIN

CABLE ASSY, 60 DEGREE PTC
CABLE ASSY, 8 COND RBN 16"L
AC SWITCH WIRE, BLACK

AC SWITCH WIRE, RED

SPEAKER WIRE, BLACK

SPEAKER WIRE, WHITE

SPEAKER WIRE, GREY

SPEAKER WIRE, BLACK

JUMPER WIRE, BLACK

JUMPER WIRE, RED

WIRE ASSY, DC OUTPUT

CABLE ASSY 16 COND RBN 12"L
CABLE ASSY PS/AMP 8 COND 9.5"L
SLEEVE, PTC, PLX

1.75" 16GA SOLID TINNED TEFLON
JMPR WIRE 14GA 1.40" SOLID WHT
1400 POWER CORD

QSC SEMKO AC CORD 1011, STR PR
QSC AC CORD 1012



WC-001014-BX
WC-001031-BX
WC-001038-BX
WC-001053-BX
WC-003017-BX
WC-003025-BX
WC-003026-CX
WC-003026-DX
WC-003027-CX
WC-003028-CX
WC-003031-TQ
WC-003035-BX
WC-003041-AX
WC-003045-AX
WC-003050-AX
WC-003050-AX
WC-003051-TQ
WC-003053-00
WC-003059-00
WC-003063-00
WC-003066-00
WC-003067-00
WC-003069-00
WC-003070-00
WC-003078-00
WC-003091-00
WC-003286-00
WC-003825-TQ
WC-1.1022-JW
WC-1.2518-JW
WC-2.0024-FJ
WC-2.2522-JW
WC-2.5018-JwW

QSC EXPORT AC CORD 1014
1080/1100 AC POWER CORD

1700 /1310/1300 AC CORD 120VAC
1700 AC CORD - EXPORT

SERIES Il 19.75 MOD CABLE
18.25 MOD CABLE

AC CORD

MX1500/3350-3800 AC POWER CORD
MX1500 RT CH SPKR WIRE
MX1500 LT CH SPKR WIRE
MX1500 MOD CABLE

19 SPEAKER WIRES

MX2000 AC POWER CORD
MX2000 INPUT CABLE
1200/MX700 AC POWER CORD
MX700 AC CORD

12" 5 CONN. FLEX CABLE

AC CORD, PREPPED. 120VAC

12 PIN MATE-N-LOC ASSY GRN
FAN WIRE BLACK

AC POWER CORD ASSY

AC POWER CORD ASSY

A/C POWER CORD ASSEMBLY EXPORT
120VAC PWR. CORD MX-1000A/1500A/CX-ALL/800/1250/1600
CABLE ASSY. 5 COND. FLAT

7" WIRE ASSY.

TRANSFORMER SLEVE

JUMPER 4.5" FOR 3800

1.1 JUMPER WHITE 22GA

1.2" JUMPER

2" 15 CKT RIBBON JUMPER

2.25 JUMPER WHITE 22 GAUGE
JMPR INS 2.5" 18AWG SLD WHT

Assemblies & Modules

QSC PIN

WP-000008-00
WP-000009-00
WP-000046-00
WP-000047-00
WP-000049-00
WP-000056-00
WP-000113-00
WP-000123-00
WP-000144-00
WP-000145-00
WP-000147-00
WP-000148-00
WP-000148-00
WP-000149-00
WP-000150-00

PART DESCRIPTION

PCB ASSY. POSITIVE STEP DRIVER
PCB ASSY. NEGATIVE STEP DRIVER
CX4/4T CHANNEL MODULE

CX4 /4T INPUT MODULE

FAN ASSY, SINGLE 2

ASSY, FETN MATCHED

CX6/6T MAIN

CX12/12T CHANNEL MODULE
POWERLIGHT 1.8 CHANNEL MODULE
POWERLIGHT 2.0 CHANNEL MODULE
PL1.0 CHANNEL MODULE

PCB ASSY INPUT PWRLT DP

PL-2RU INPUT MODULE
POWERLIGHT DISPLAY MODULE
CHASSIS ASSY SLS



WP-000152-00
WP-000153-00
WP-000154-00
WP-000155-00
WP-000155-02
WP-000156-00
WP-000157-00
WP-000158-00
WP-000162-00
WP-000174-00
WP-000191-00
WP-000194-02
WP-000199-00
WP-000199-00
WP-000291-00
WP-000640-TD
WP-000818-00
WP-000820-00
WP-000823-00
WP-000824-00
WP-000941-00
WP-000943-00
WP-000944-00
WP-000944-01
WP-000944-02
WP-000944-03
WP-001001-00
WP-001021-00
WP-001501-00
WP-001521-00
WP-001522-01
WP-002002-00
WP-002021-00
WP-002521-00
WP-003002-00
WP-003002-00
WP-003091-00
WP-004003-00
WP-004005-00
WP-004006-00
WP-004007-00
WP-004008-00
WP-004101-00
WP-004101-10
WP-004101-20
WP-004106-00
WP-004201-00
WP-120044-TD
WP-140044-TD
WP-170053-TD
WP-170054-TD

PL-1.8 CHANNEL MODULE

DISPLAY PCB ASSY

INPUT PCB ASSY, SLS2

AC PCB ASSY SLS 2

AC FILTER ASSY

POWERLIGHT 1.8 ACPCB
POWERLIGHT 1.4 CHANNEL MODULE
POWERLIGHT 1.0 CHANNEL MODULE
SWITCHING CONTROLLER

PCB ASSY, CONTROL PS PL 9.0
POWERLIGHT 4.0 CHANNEL MODULE
ACPCB POWERLIGHT 3.4 AND 4.0 (230V)
PCB ASSY INPUT PL 3.4/4.0

PL-3RU INPUT MODULE
POWERLIGHT 3.4 CHANNEL MODULE
MX700 CHANNEL MODULE

ASSY, THERMOSTAT MS

CHASSIS ASSY, MSP C 7

POWER SUPPLY ASSY

AUDIO RELAY BOARD A

CX6/6T CHANNEL MODULE

CX SERIES INPUT MODULE

CX6 DISPLAY MODULE

CX6T DISPLAY MODULE

CX12 DISPLAY MODULE

CX12T DISPLAY MODULE

MX1000A CHANNEL MODULE
MX1000a DISPLAY MODULE

MX1500A CHANNEL MODULE

MXA DISPLAY BOARD

MXA LOWER INPUT CARD (NEW)
MX2000A CHANNEL MODULE
MX2000a DISPLAY MODULE

EX2500 CHANNEL MODULE

MX3000A DISPLAY BOARD

MX3000a DISPLAY MODULE

WIRE ASSY, 7"LG, (WHT/BLU)

EX DISPLAY BOARD

EX SERIES INPUT MODULE

AC PCB BOARD 100V / 120V

AC PCB ASSY, 230V EXPORT

EX 3RU OUTPUT MODULE

EX1600 CHANNEL MODULE

EX1250 CHANNEL MODULE

EX800 CHANNEL MODULE

AC PCB 2 RACK SPACE MXA/EX
EX4000 CHANNEL MODULE
1200/USA370 CHANNEL MODULE
1400/USA850 CHANNEL MODULE
1700/USA1300 CHANNEL MODULE (CH.1)
1700/USA1300 CHANNEL MODULE (CH.2)



Inductors / Transformers

QSC PIN
XF-000004-00
XF-000005-00
XF-000006-00
XF-000007-00
XF-000008-00
XF-000009-00
XF-000011-00
XF-000012-00
XF-000013-00
XF-000014-00
XF-000015-00
XF-000019-00
XF-000023-00
XF-000024-00
XF-000026-00
XF-000027-00
XF-000029-00
XF-000033-0
XF-000034-00
XF-000035-00
XF-000036-00
XF-000037-00
XF-000038-00
XF-000039-00
XF-000040-00
XF-000041-00
XF-000042-00
XF-000045-00
XF-000046-00
XF-000049-00
XF-000050-00
XF-000061-00
XF-000063-00
XF-000064-00
XF-000066-00
XF-000068-00
XF-000077-00
XF-0005.0-AX
XF-000601-00
XF-000601-AX
XF-000800-00
XF-001000-00
XF-001010-00
XF-001201-1X
XF-001201-BX
XF-001202-1X
XF-001400-AX

PART DESCRIPTION
XFPHF EE 650W PL1.8

IND 6UH BEAD FERRITE W/20 AWG LEAD

XFGDR 1:1:1

XFP El 5V 5VA

IND CURNT SENS 200 TURN

1.4MH 10AMP COIL TRANSFORMER
XFPHF EE 500W PL-1.4

XFPHF EE 325W PL1.0

XFPHF EE 650W PL 1.8 100V
XFPHF EE 325W PL 1.0 100V
XFPHF EE 500W PL 1.4 100V
2.2MH CHOKE COMMON MODE
2MH COMMON MODE IND HC
AUDIO XFMR, 250W

IND. 18UH TORIOD

AUDIO AFMR TOROIDAL 175W
XFPHF EE 900 W PL 2.0 HV

XFPHF EE 700W PL 4.0

IND 1.9UH TOR IRON POWDER
XFMR PL 4.0 (100V)

XFMR, POWER MSP

XFMR,PS HOUSEKEEPING PL 9.0
XFMR, AMP HOUSEKEEPING, PL9.0
XFMR, POWER PL 9.0

INDUCTOR .5UH 12GA

PWR INDUCTOR, PL 9.0 120V
INDUCTOR COM MODE 5-WINDING
XPI El 6.3V 5VA

XFMR, PWR PL 3.4

INDUCTOR CHOKE COM MODE 120UH
XFMR, PWR, PLX3002

INDUCTOR TORIOD 1.9

XFMR, PWR PLC 15

XFMR AMP HOUSEKEEPING
INDUCTOR AIR 2UH 14/22GA
INDUCTOR 1UH 12AWG VERT MNT
IND CUR SENSE PCB MNT LOW R
PT-5 TRANSFORMER (1 EXP VER)
XFO 600W

XFP El 225W MX700

XFP Ul 275W EX800

XFP Ul 400W EX1250

XFP Ul 350W MX1000A

1200 TRANSFORMER 100VAC

1200 TRANSFORMER 120/240VAC
XFP El 150W 1200 100V

1400 TRANSFORMER (ORIGINAL)



XF-001401-AX
XF-001401-BX
XF-001402-1X
XF-001500-BX
XF-001510-00
XF-001600-00
XF-001700-BX
XF-001701-1X
XF-002010-00
XF-002300-BX
XF-002501-00
XF-100000-AT
XF-100000-UT
XF-200010-RL
XF-200014-CR

1400 TRANSFORMER

XFP EI 300W 1400

XFP EI 300W 1400 100V

MX1500 TRANSFORMER 120VAC 60HZ
XFP Ul 500W MX1500A

XFP Ul 600W EX1600/MPA600

XFP Ul 500w 1700

XFP Ul 500w 1700 100V

XFP EI 650W MX2000A

SERIES Il TRANSFORMER 120VAC
XFP Ul 750W EX2500

XFI 1:1 15K TESTED

XFI 1:1 15K UNTESTED

2mH COIL W/10 OHM

IND 2UH 14GA AIR






